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1. Arrange the following OSI layers in order 

(1) Data Link Layer 
(2) Physical Layer 
(3) Transport Layer 
(4) Network Layer 
a. (2), (1), (4), (3)   b. (2), (3), (1), (4)  c. (4), (3), (2), (1) 
d. (3), (1), (4), (2)   e. Answer not known 
gpd;tUk; OSI mLf;Ffis thpirg;gLj;jTk;. 
(1) juT ,izg;G mLf;F 
(2) td; mLf;F 
(3) flj;jp mLf;F 
(4) ,iztiy mLf;F 
a. (2), (1), (4), (3)   b. (2), (3), (1), (4)  c. (4), (3), (2), (1) 
d. (3), (1), (4), (2)   e. tpil njhpatpy;iy 
 

2. Assertion [A]: In humans, individuals inherit Mitochondrial DNA strictly 
from their mothers. 
Reason [R]:  Therefore, the mtDNA sequences obtained from maternally 
related individuals such as a brother and a sister (or) a mother and a daughter 
exactly match each other when there is no mutation in either of cases. 
a. [A] is true but [R] is false 
b. Both [A] and [R] are true and [R] is the correct explanation of [A]. 
c. [A] is false, [R] is true 
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d. Both [A] and [R] are true, but [R] is not the correct explanation of [A]. 
e. Answer not known 
$w;W [A]: kdpjh;fspy; kugpay; ikl;Nlhfhz;l;hpay; mtDNA xt;nthUtUk; 
jq;fs; jhaplkpUe;J ngw;Wf; nfhs;fpwhh;fs;. 
fhuzk; [R]: mtDNA-ia jha; rhh;e;j rNfhjuh; kw;Wk; rNfhjhpfsplNkh 
my;yJ jha; kw;Wk; kfsplNkh ,Ue;jhYk; rLjp khw;wk; ,y;yhky; xNu 
khjphpahfg; ngw;Wf;nfhs;syhk;. 
a. [A] rhp Mdhy; [R] jtW 
b. [A] kw;Wk; [R] rhp kw;Wk; [R], [R] tpw;fhd rhpahd tpsf;fk; 
c. [A] jtW [R] rhp 
d. [A] kw;Wk; [R] rhp> Mdhy; [R], [A] tpw;fhd rhpahd tpsf;fk; ,y;iy 
e. tpil njhpatpy;iy 
 

3. In IVF technique, fusion of sperm and ovum takes place in 
a. Vagina   b. Fallopian tube  c. Culture medium 

d. Uterus   e. Answer not known 
IVF Kiwapy; tpe;jZTk; mz;lKk; ,iztJ gpd;tUtdtw;wpy; vjpy; 
eilngWfpwJ? 
a. Nahdpf; Foha;  b. /gNyhg;gpad; Foha; c. tsh;g;G Clfk; 
d. fUg;ig   e. tpil njhpatpy;iy 
 

4. Choose the right matches among type 
The methods employed in micro propagation and improvement of tree 
species are 
(1) Clonal multiplication    - Prosopis Cineraria 
(2) Protoplast culture and genetic engineering - Dalbergia sisso 
(3) By somatic embryogenesis   - Cupressus arizonica 
(4) Germplasm conservation   - Tectona grandis 
a. (1) and (3) correct b. (1) and (4) correct  c. (2) and (3) correct 
d. (3) and (4) correct e. Answer not known 
fPo;f;fz;ktw;wpy; rhpahd ,iziaf; fz;Lgpbf;fTk;. 
ikf;Nuh gug;Gjy; kw;Wk; ku ,dq;fis Nkk;gLj;Jk; Kiw 
(1) FNshdy; ngUf;f Kiw   - GNuhNrhgp]; rpdpNuhpah 
(2) GNuhl;Nlh gpsh];l; tsh;g;G kw;Wk;  - lhy;gh;[pah rpR 
   kugZ nghwpapay; Kiw 
(3) clypay; fU cUthf;fk;  - Fg;u]]; mhpNrhdpfh 
(4) n[h;k;gpshrk; ghJfhg;G   - nlf;Nlhdh fpuhz;b]; 
a. (1) kw;Wk; (3) rhp b. (1) kw;Wk; (4) rhp  c. (2) kw;Wk; (3) rhp 
d. (3) kw;Wk; (4) rhp e. tpil njhpatpy;iy 
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5. Which of the following is incorrectly paired? 

(i) Atal Tinkering Lab - Nurtures an innovative mindset towards  
research amongst high school students 

(ii) Krishi Neev  - Platform to promote technology interventions in 
      agriculture 
(iii) Palna   - Provides support service like safe  

accommodation and Medical assistance to working 
women 

(iv) Unnati   - Technology platform integrated with artificial 
      intelligence to match job providers with seekers 
a. (i) only   b. (i) and (ii) only  c. (iii) only 

d. (i) and (iv) only e. Answer not known 
gpd;tUtdtw;wpy; vJ jtwhf ,izf;fg;gl;Ls;sJ? 
(i) mly; bq;fhpq; Ma;tfk; - cah;epiy gs;sp khzth;fspilNa  

Muha;r;rpf;fhd GJikahd kdepiyia 
tsh;f;fpwJ 

(ii) fphp~p ePt  - tptrhaj;jpy; njhopy; El;gj; jiyaPLfis 
      Cf;Ftpf;Fk; jsk; 
(iii) gy;dh   - gzpGhpAk; ngz;fSf;Fg; ghJfhg;ghd jq;Fkplk; 
      kw;Wk; kUj;Jt cjtp Nghd;w MjuTr;  

Nritfis toq;FfpwJ. 
(iv) cd;djp  - Ntiy NjLgth;fSld; Ntiy toq;Fgth;fisg; 
     nghUj;j nraw;if Ez;zwpTld; xUq;fpizf;fg;gl;l 
     njhopy;El;gj; jsk; 
a. (i) kl;Lk;   b. (i) kw;Wk; (ii) kl;Lk;  c. (iii) kl;Lk; 
d. (i) kw;Wk; (iv) kl;Lk; e. tpil njhpatpy;iy 
 

6. Match the following : 
A. Hydrogen bomb       1. Uncontrolled nuclear fission reaction 
B. Power reactor        2. Controlled fusion reaction 
C. Magnetic confinement of plasma   3. Controlled fission reaction 
D. Atom Bomb        4. Fission – Fusion reaction 
 A B C D 
a. 2 1 4 3 
b. 1 3 4 2 
c. 3 4 1 2  
d. 4 3 2 1 
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e. Answer not known 
gpd;tUtdtw;iw nghUj;Jf : 
A. i`l;u[d; Fz;L    1. fl;Lg;ghlw;w mZf;fU gpsT  

tpid 
B. jpwd; ciy     2. fl;Lg;gLj;jg;gl;l ,izT tpid 
C. gpsh];khtpd; fhe;jtpay; mlf;fy; 3. fl;Lg;gLj;jg;gl;l mZf;fU gpsT  

tpid 
D. mZFz;L     4. mZf;fU gpsT - ,izT tpid 
 A B C D 
a. 2 1 4 3 
b. 1 3 4 2 
c. 3 4 1 2  
d. 4 3 2 1 
e. tpil njhpatpy;iy 
 

7. Which of the following is/are correct about Dip-Pen Nano Lithography 
(DPN)? 
(i) It is a direct method 
(ii) It works on diffusion through water molecules 
(iii) It patterns a variety of materials 
(iv) It is a fast scanning process 
a. (i) only   b. (ii) only   c. (i), (ii) and (iii) only 

d. all of the above e. Answer not known 
gpd;tUtdtw;wpy; vJ/vit bg; Ngdh ehNdh ypj;Njhfpuhgp (DPN) gw;wp 
rhpahdit? 
(i) ,J xU Neub Kiw 
(ii) ,J jz;zPuJ %yf;$Wfs; guTjy; %yk; Ntiy nra;fpwJ. 
(iii) ,J gy;NtWgl;l nghUl;fspd; tbtq;fis tiufpwJ 
(iv) ,J xU mjpNtf ];Nfd; nray;Kiw 
a. (i) kl;Lk;    b. (ii) kl;Lk;   c. (i), (ii) kw;Wk; (iii) kl;Lk; 
d. Nkw;$wpa midj;Jk; e. tpil njhpatpy;iy 
 

8. The primary objective of Global One-Stop Centres (OSCs) established by 
Ministry of external affairs is 
a. Promote student and faculty exchange programme 
b. Facilitate research and development among Higher Education Institutions. 
c. Provide comprehensive assistance to women in vulnerable situations 
d. Support Indian students studying abroad during crisis. 
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e. Answer not known 
,e;jpa ntspAwTj; Jiw mikr;rfj;jhy; epWtg;gl;l cyfshtpa xU epWj;j 
ikaq;fspd; (OSCs) Kjd;ik Nehf;fk; 
a. khzth; kw;Wk; Mrhpah; ghpkhw;w jpl;lj;ij Cf;Ftpg;gjw;fhf 
b. cah; fy;tp epWtdq;fspilNa Muha;r;rp kw;Wk; Nkk;ghl;il vspjhf;f 
c. ghjpf;fg;glf;$ba #o;epiyapy; cs;s ngz;fSf;F tphpthd cjtpfis 

toq;f 
d. neUf;fbapd; NghJ ntspehl;by; gbf;Fk; ,e;jpa khzth;fSf;F 

Mjutspf;f 
e. tpil njhpatpy;iy 
 

9. Arranging chronological order/event type 
Arrange the following poverty alleviation programmes in chronological order 
(1) Sampoorna Grameen Rozgar Yojana 
(2) Swarnajayanthi Gram Swarozgar Yojana 
(3) Integrated Rural Development Project 
(4) Food for Work Program 
a. (1), (2), (3), (4)  b. (4), (3), (2), (1)  c. (2), (4), (3), (1) 
d. (3), (4), (1), (2)  e. Answer not known 
fPo;f;fz;l epfo;Tfis fhythpirg;gLj;Jf. 
gpd;tUk; tWik xopg;G jpl;lq;fis fhythpirg;gb xOq;FgLj;jTk; 
(1) rk;G+h;z fpuhkPd; Nuh];fh; Nah[dh 
(2) ];th;zn[ae;jp fpuhk; ];tNuh];fh; Nah[dh 
(3) xUq;fpize;j Cuf tsh;r;rpj; jpl;lk; 
(4) Ntiyf;fhd czTj; jpl;lk; 
a. (1), (2), (3), (4)  b. (4), (3), (2), (1)  c. (2), (4), (3), (1) 
d. (3), (4), (1), (2)  e. tpil njhpatpy;iy 
 

10. Assertion [A]: The lack of alternate employment, skill training (or) credit 
facilities for women, is another factor that keeps them in poverty. 
Reason [R]:  Poverty is increasingly becoming a feminine identity. 
a. [A] is true but [R] is false 
b. Both [A] and [R] are true and [R] is the correct explanation of [A]. 
c. [A] is false, [R] is true 
d. Both [A] and [R] are true, but [R] is not the correct explanation of [A]. 
e. Answer not known 
$w;W [A]: ngz;fSf;fhd khw;W Ntiy tha;g;G> jpwd; gapw;rp my;yJ fld; 
trjp ,y;yhjJ mth;fis tWikapy; itj;jpUf;Fk; kw;nwhU fhuzpahFk;. 
fhuzk; [R]: tWik njhlh;e;J ngz;zpa milahskhf khwp tUfpwJ. 
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a. [A] rhp Mdhy; [R] jtW 
b. [A] kw;Wk; [R] rhp kw;Wk; [R], [R] tpw;fhd rhpahd tpsf;fk; 
c. [A] jtW [R] rhp 
d. [A] kw;Wk; [R] rhp> Mdhy; [R], [A] tpw;fhd rhpahd tpsf;fk; ,y;iy 
e. tpil njhpatpy;iy 
 

11. Article ____ of the Indian Constitution Prohibits the employment of children 
in Factories, Mines or any other hazardous occupation. 
a. 21A  b. 24  c. 17  d. 39  e. Answer not known 
,e;jpa murpayikg;gpd; ____ gphpT> njhopw;rhiyfs;> Ruq;fs; my;yJ NtW 
ve;j Mgj;jhd; njhopYk; Foe;ijfis Ntiyf;F mkh;j;Jtijj; jil 
nra;fpwJ. 
a. 21A  b. 24  c. 17  d. 39  e. tpil njhpatpy;iy 
 

12. Match the schemes with years. 
A. Neengal Nalama   1. 2000 
B. Manu Needhi    2. 2021 
C. Kural Mutrodhal   3. 2024 
D. Illam Thedi Kalvi   4. 1969 
 A B C D 
a.  2 3 4 1  
b. 1 2 3 4 
c. 3 4 1 2 
d. 4 1 2 3 
e. Answer not known 
fPo;f;fhZk; jpl;lq;fs; me;je;j tUlj;Jld; nghUj;Jf. 
A. ePq;fs; eykh    1. 2000 
B. kD ePjp     2. 2021 
C. Fws; Kw;Nwhjy;   3. 2024 
D. ,y;yk; Njb fy;tp   4. 1969 

A B C D 
a.  2 3 4 1  
b. 1 2 3 4 
c. 3 4 1 2 
d. 4 1 2 3 
e. tpil njhpatpy;iy 
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13. Tamil Nadu skill development corporations established a new platform by 
using AI Technology to guide the youth‟s employment and skill training is 
called as 
a. „Inaya‟    b. ‘Ilaya’   
c. „Naan Mudhalvan‟  d. „You are your own king‟ Scheme  
e. Answer not known 
jkpo;ehL jpwd; Nkk;ghl;Lf; fofk; nraw;if Ez;zwpTj; njhopy; El;gj;jpd; 
%ykhf ,isQh;fSf;F Ntiy tha;g;G kw;Wk; jpwd; gapw;rpf;F topfhl;L 
mikf;fg;gl;l xU jsk;. 
a. „,ida‟    b. „,isa‟   c. „ehd; Kjy;td;‟ 
d. „ePNa cdf;F uh[h‟ jpl;lk; e. tpil njhpatpy;iy 
 

14. ____ state has the highest percentage of unemployment during the year 2022-
23. 
a. Kerala   b. Haryana   c. Punjab 
d. Tamil Nadu  e. Answer not known 
____ khepyk; 2022-23 fzf;nfLg;gpd; NghJ mjpf Ntiyapd;ik tpfpjk; 
nfhz;l khepyk;. 
a. Nfush   b. `hpahdh   c. gQ;rhg; 
d. jkpo;ehL   e. tpil njhpatpy;iy 
 

15. The Total Gross Enrollment Ratio of Tamil Nadu in higher education during 
2021-2022 was _______. 
a. 45 percent  b. 46 percent   c. 47 percent 

d. 48 percent  e. Answer not known 
2021-2022 Mk; fy;tp Mz;by; jkpo;ehl;by; cah; fy;tpg; gapy;Nthhpd; nkhj;jg; 
gjpT ____ cs;sJ. 
a. 45 rjtpfpjk;  b. 46 rjtpfpjk;   c. 47 rjtpfpjk; 
d. 48 rjtpfpjk;  e. tpil njhpatpy;iy 
 

16. Which of the following credit schemes for Farmers Producers Organisation 
(FPOs) is incorrectly paired? 
(i) Credit guarantee scheme - Direct cash grants 
(ii) Mezzanine capital assistance - Non repayable credit 
(iii) Revolving fund support - Concessional credit 
(iv) Nabkisan   - Initiated credit schemes with T.N. 
a. (i) and (iv)   b. (i) and (ii)   c. (iii) and (iv) 
d. (ii) and (iii)   e. Answer not known 



 

8 | Page  044-24339436, 42867555, 9840226187 

tptrhapfs; cw;gj;jpahsh; mikg;gpw;fhd gpd;tUk; fld; jpl;lq;fspy; vJ 
jtwhf ,izf;fg;gl;Ls;sJ? 
(i) fld; cj;juthjj; jpl;lk;  - Neub gz epjp 
(ii) nk];]hidd; %yjd cjtp - jpUg;gpr; nrYj;jKbahj fld; 
(iii) Roy; epjp MjuT - rYif fld; 
(iv) eg;fprhd;  - jkpo;ehL muRld; ,ize;J fld; jpl;lq;fisr; 
     nray;gLj;Jjy; 
a. (i) kw;Wk; (iv)   b. (i) kw;Wk; (ii)  c. (iii) kw;Wk; (iv) 
d. (ii) kw;Wk; (iii)   e. tpil njhpatpy;iy 
 

17. Which of the following statements are True about features of Tamil Nadu 
Economy? 
(i) Tamil Nadu has 7th highest GSDP per capita 
(ii) Tamil Nadu has low industries and small service sectors 
(iii) Tamil Nadu is second largest economy among the states in India 
a. (i) only    b. (i) and (ii) only  c. (iii) only 

d. (ii) and (iii) only  e. Answer not known 
jkpo;ehL nghUshjhuj;jpd; ,ay;Gfisg; gw;wpa gpd;tUk; $w;Wfspy; vJ 
cz;ik? 
(i) [pv];bgp jdpegh; tUkhdj;jpy; jkpo;ehL 7-tJ cah;e;j ,lj;jpy; 

cs;sJ. 
(ii) jkpo;ehL Fiwe;j njhopy;fs; kw;Wk; rpW Nritj; Jiwfisf; 

nfhz;Ls;sJ. 
(iii) ,e;jpahtpy; cs;s khepyq;fspy; jkpo;ehL ,uz;lhtJ nghpa 

nghUshjhuj;ij cilaJ. 
a. (i) kl;Lk;    b. (i) kw;Wk; (ii) kl;Lk;  c. (iii) kl;Lk; 
d. (ii) kw;Wk; (iii) kl;Lk;  e. tpil njhpatpy;iy 
 

18. Match the following climate conference with respective themes. 
A. Kyoto protocol  1. Limit global temperature rise 
B. Rio Earth summit  2. Protecting Ozone layer 
C. Paris Agreement  3. Global Framework for sustainable  

development 
D. Montreal protocol  4. Commitment to reduce emissions 
 A B C D 
a. 2 3 1 4 
b. 4 2 3 1 
c. 4 3 1 2 
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d. 2 1 4 3 
e. Answer not known 
gpd;tUk; fhyepiy khehLfisAk; mJ rhu;e;j fUj;ijAk; nghUj;Jf. 
A. fpNahl;Nlh newpKiw 1. cyf ntg;gepiy cah;it fl;Lg;gLj;Jjy; 
B. hpNah G+kp cr;rp khehL 2. XNrhd; glyj;ij ghJfhj;jy; 
C. ghhp]; xg;ge;jk;  3. epiyahd tsh;r;rpf;fhd cyfshtpa  

fl;likg;G 
D. khz;l;hPy; newpKiw  4. ckpo;it Fiwg;gjw;fhd mh;g;gzpg;G 
 A B C D 
a. 2 3 1 4 
b. 4 2 3 1 
c. 4 3 1 2 
d. 2 1 4 3 
e. tpil njhpatpy;iy 
 

19. Assertion [A]: COP28 marked a significant milestone in global climate 
action by explicitly calling for a transition away from fossil fuels. 
Reason [R]:  The Global stocktake, a key component of the Paris 
Agreement, highlighted the urgent need to accelerate climate action. 
a. Both [A] and [R] are true and [R] is the correct explanation of [A].  
b. Both [A] and [R] are true, but [R] is not the correct explanation of [A]. 
c. [A] is true, but [R] is false  
d. [A] is false, but [R] is true 
e. Answer not known 
$w;W [A]: gbk vhpnghUs;fspypUe;J xU tpyf;f khw;wj;jpw;fhd 
ntspg;gilahd miog;gpdhy; cyfshtpa fhyepiy eltbf;ifapy;> COP28, 
xU Fwpg;gplj;jf;f iky;fy;iy mile;jJ. 
fhuzk; [R]: ghhp]; xg;ge;jj;jpd; Kf;fpa mq;fkhd FNshgy; ];lhf;Nlf;> 
fhyepiy eltbf;ifia Jhpjg;gLj;j Ntz;ba mtruj; Njitia 
vLj;Jiuj;jJ. 
a. [A] kw;Wk; [R] rhp kw;Wk; [R], [R] tpw;fhd rhpahd tpsf;fk;  
b. [A] kw;Wk; [R] rhp> Mdhy; [R], [A] tpw;fhd rhpahd tpsf;fk; ,y;iy 
c. [A] rhp Mdhy; [R] jtW  
d. [A] jtW [R] rhp  
e. tpil njhpatpy;iy 
 

20. The threatened species found in the Agasthiayamalai Biosphere Reserve are 
(i) Lion-tailed macaque, slender loris and great pied hornbill 
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(ii) Rudraksh tree, black plums, wild dahman and gaub tree 
(iii) Slender loris, lion-tailed macaque, black plums rudraksh tree and green 

pit viper 
a. (i) and (ii) only   b. (ii) and (iii) only  c. (iii) and (i) only 
d. (i), (ii) and (iii)  e. Answer not known 
mf];jpakiy caph;f;Nfhsf; fhg;gfj;jpy; fhzg;gLk; mope;J tUk; ,dq;fs; 
vd;git 
(i) rpq;fthy; Fuq;F> ];ypd;lh; Nyhhp];> nghpa igl; `hh;d;gpy; 
(ii) Uj;jpuhl;r kuk;> fUg;G gpsk;> fhl;L l`khd;> kw;Wk; fhg; kuk; 
(iii) nky;ypa Nyhhp];> rpq;fthy; Fuq;F> fUg;G gpsk;> Uj;uhl;r kuk;> kw;Wk; 

gr;irf; Fop itg;gh; 
a. (i) kw;Wk; (ii) kl;Lk;  b. (ii) kw;Wk; (iii) kl;Lk; c. (iii) kw;Wk; (i) kl;Lk; 
d. (i), (ii) kw;Wk; (iii)  e. tpil njhpatpy;iy 
 

21. Consider the following statements. 
A. Forest regulate floods and droughts 
B. Almost 10% of tropical are lost each year 
C. Nearly 47% of forests Worldwide are tropical forests 
D. 45% of the World‟s forest are under protected areas 
The correct statements are: 
a. (B) and (C)  b. (A), (B) and (C)  c. (A) and (C) 
d. (C) and (D)  e. Answer not known 
gpd;tUk; mwpf;iffisf; fUj;jpy; nfhs;f. 
A. tdq;fs; nts;sk; kw;Wk; twl;rpia xOq;FgLj;Jfpd;wd. 
B. xt;nthU tUlKk;> fpl;lj;jl;l 10% ntg;gkz;ly fhLfs; ,of;fg;gLfpd;wd. 
C. cynfq;fpYk; cs;s fhLfspy; fpl;lj;jl;l 47% ntg;gkz;ly fhLfs; 

MFk;. 
D. cyfpd; 45% fhLfs; ghJfhf;fg;gl;l gFjpfspy; cs;sd. 
rhpahd mwpf;iffs; vd;git: 
a. (B) kw;Wk; (C)  b. (A), (B) kw;Wk; (C)  c. (A) kw;Wk; (C) 
d. (C) kw;Wk; (D)  e. tpil njhpatpy;iy 
 

22. ____ satellite was sent by ISRO on 1st January 2024 to study cosmic X rays. 
a. ASTROSAT  b. Aditya – 1   c. Chandrayan – 1 
d. Xposat   e. Answer not known 
____ nraw;ifNfhs; 1> [dthp 2024 md;W ,];Nuh fh];kpf; vf;]; fjph;fis 
Ma;T nra;Ak; nghUl;L mDg;gg;gl;lJ. 
a. M];l;Nuhrhl;  b. Mjpj;ah – 1  c. re;jpuahd; - 1 
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d. vf;];Nghrhl;  e. tpil njhpatpy;iy 
 

23. Central salt and marine chemicals Research Institute is located at 
a. Cochin   b. Chennai   c. Bhavnagar 

d. Narimanam  e. Answer not known 
kj;jpa cg;G kw;Wk; fly; Muha;r;rp epWtdk; vq;F mike;Js;sJ? 
a. nfhr;rpd;   b. nrd;id   c. gt;efh; 
d. ehpkzk;   e. tpil njhpatpy;iy 
 

24. Clean Air Act was passed in the year ____. 
a. 1970 b. 1972 c. 1969  d. 1980 e. Answer not known 
Rj;jkhd fhw;Wr; rl;lk; epiwNtw;wg;gl;l Mz;L ___. 
a. 1970 b. 1972 c. 1969  d. 1980 e. tpil njhpatpy;iy 
 

25. Match the following Bird Sancturies with their districts: 
Bird Sancturies   Districts 
A. Vettangudi   1. Sivagangai 
B. Mayura Thottam  2. Ariyalur 
C. Vellode    3. Thoothukudi 
D. Karaivetti   4. Erode 
 A B C D 
a. 4 3 2 1 
b. 1 2 3 4 
c. 1 3 4 2 
d. 3 2 1 4 
e. Answer not known 
gpd;tUk; gwitfs; ruzhyaj;ij mjd; khtl;lj;Jld; nghUj;jTk;: 
gwitfs; ruzhyak;  khtl;lq;fs; 
A. Ntl;ld;Fb   1. rptfq;if 
B. kA+uh Njhl;lk;  2. mhpaY}h; 
C. nts;NshL   3. J}j;Jf;Fb 
D. fiuntl;b    4. <NuhL 
 A B C D 
a. 4 3 2 1 
b. 1 2 3 4 
c. 1 3 4 2 
d. 3 2 1 4 
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e. tpil njhpatpy;iy 
 

26. Arrange the following periods in order : 
(1) Prehistoric period 
(2) Chola‟s period 
(3) Sangam period 
(4) Pallava‟s period 
a. (1), (4), (3), (2)  b. (2), (4), (1), (3)   c. (1), (3), (4), (2) 

d. (2), (3), (4), (1)  e. Answer not known 
gpd;tUk; fhyq;fis Kiwg;gb thpirg;gLj;Jf : 
(1) tuyhw;Wf;F Kw;gl;l fhyk; 
(2) Nrhoh; fhyk; 
(3) rq;f fhyk; 
(4) gy;yth; fhyk; 
a. (1), (4), (3), (2)  b. (2), (4), (1), (3)   c. (1), (3), (4), (2) 
d. (2), (3), (4), (1)  e. tpil njhpatpy;iy 
 

27. Assertion [A]: V.O.C charged with sedition, was sentenced to forty years of 
imprisonment. 
Reason [R]:  He attended Surat Congress session and followed Tilak and 
preached his philosophy. 
a. [A] is true but [R] is false 
b. Both [A] and [R] are true and [R] is the correct explanation of [A]. 
c. Both [A] and [R] are true, but [R] is not the correct explanation of [A].  
d. [A] is false, [R] is true 
e. Answer not known 
$w;W [A]: t.c.rp.f;F Njrj; JNuhff; Fw;wk; Rkj;jg;gl;L 40 Mz;Lfs; 
rpiwj;jz;lid tpjpf;fg;gl;lJ. 
fhuzk; [R]: #uj; khehl;by; fye;J nfhz;L jpyfiug; gpd;gw;wp 
jj;Jtj;ij Mjhpj;jhh;. 
a. [A] rhp Mdhy; [R] jtW 
b. [A] kw;Wk; [R] rhp kw;Wk; [R], [R] tpw;fhd rhpahd tpsf;fk; 
c. [A] kw;Wk; [R] rhp> Mdhy; [R], [A] tpw;fhd rhpahd tpsf;fk; ,y;iy  
d. [A] jtW [R] rhp 
e. tpil njhpatpy;iy 

 
28. Ishwar Chandra Vidyasagar setup school for girls at 

a. Bombay   b. Surat   c. Lahore 
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d. Calcutta   e. Answer not known 
ngz;fSf;fhdg; gs;spia <];th; re;jpu tpj;ahrhfh; epWtpa ,lk; 
a. gk;gha;   b. #uj;   c. yh$h; 
d. fy;fj;jh  e. tpil njhpatpy;iy 
 

29. What have to be realized if you want to overcome the ignorance and feel 
healthy? 
a. Be aware and believe on the immaculate truth 
b. Duty conscious 
c. Karmic Action 
d. Medicinal knowledge 
e. Answer not known 
mwpahik mfd;W eyk; Njhd;Wk; vg;NghJ? 
a. kaf;fk; njspe;J khrw;w cz;ikia czh;jy; 
b. flikia nra;jy; 
c. fh;k nray; 
d. kUj;Jt mwpT 
e. tpil njhpatpy;iy 
 

30. Match the following 
A. Justice Party   1. 1949 
B. D.M.K.    2. 1944 
C. Dravida Kazhagam  3. 1916 
D. Self-Respect Movement 4. 1925 
 A B C D 
a. 4 1 3 2 
b. 2 4 1 3 
c. 3 1 2 4 
d. 3 1 4 2 
e. Answer not known 
rhpahd tpiliaj; nghUe;jr; nra;f: 
A. ePjpf;fl;rp   1. 1949 
B. jp.K.f.    2. 1944 
C. jpuhtplh; fofk;  3. 1916 
D. Rakhpahij ,af;fk; 4. 1925 
 A B C D 
a. 4 1 3 2 
b. 2 4 1 3 
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c. 3 1 2 4 
d. 3 1 4 2 
e. tpil njhpatpy;iy 
 

31. The first state level meet of self respect movements was conducted at which 
place? 
a. Chengalpet  b. Madurai    c. Chennai 
d. Kovai   e. Answer not known 
Rakhpahij ,af;fj;jpd; Kjy; khepy mstpyhd $l;lk; ve;j ,lj;jpy; 
elj;jg;gl;lJ? 
a. nrq;fy;gl;L  b. kJiu    c. nrd;id 
d. Nfhit   e. tpil njhpatpy;iy 
 

32. Which one of the following statements is/are wrong regarding Edward Clive, 
the Governor of Madras Presidency? 
a. He usurped the regime of Nawab of Arcot 
b. He abolished the poligar system 
c. During his tenure, the supreme court of judicature in madras was founded. 
d. He did not show interest in the letter of Veera Pandya Kattabomman 

stating the insult inflicted on him by Collector Jackson. 
e. Answer not known 
nrd;id khfhzj;jpd; MSeh; vl;th;l; fpist; Fwpj;j nrhw;nwhlh;fspy; 
vJ/vit jtwhdJ? 
a. Mw;fhL ethgpd; muirg; gwpj;Jf; nfhz;lhh;. 
b. ghisaf;fhu Ml;rp Kiwia xopj;jhh; 
c. nrd;idapy; jiyik ePjpkd;wk; ,tUila Ml;rpf;fhyj;jpy; epWtg;gl;lJ. 
d. fnyf;lh; [hf;rd;> jd;id mtkhdg;gLj;jptpl;ljhf tPughz;ba 

fl;lnghk;kd; vOjpa fbjj;jpw;F vl;th;l; fpist; Mh;tk; fhl;ltpy;iy 
e. tpil njhpatpy;iy 

 
33. Choose the right matches. 

(1) Bankim Chandra Chatterjee - Anandmath 
(2) Lord Minto    - Madras 
(3) Swadeshi    - VOC 
(4) Lala Lajpat Rai   - The National Council of Education 
a. (1) and (3) correct  b. (1) and (2) correct  c. (1) and (4) correct 
d. (4) and (3) correct  e. Answer not known 
rhpahd nghUj;jj;ij fz;Lgpb. 



 

15 | Page  044-24339436, 42867555, 9840226187 

(1) gq;fpk; re;jpu rhl;lh;[p  - Mde;j klk; 
(2) kpz;Nlh gpuG    - nrd;id 
(3) RNjrp     - t.c.rp 
(4) yhyh y[gjp uha;   - fy;tpf;fhd Njrpa fofk; 
a. (1) kw;Wk; (3) rhp  b. (1) kw;Wk; (2) rhp  c. (1) kw;Wk; (4) rhp 
d. (4) kw;Wk; (3) rhp  e. tpil njhpatpy;iy 
 

34. Match the following: 
A. Madras Medical School   1. 1837 
B. Madras Presidency College  2. 1835 
C. Madras Christian College   3. 1842 
D. Pachayappas College   4. 1840 
 A B C D 
a. 2 1 4 3 
b. 2 4 1 3 
c. 2 4 3 1 
d. 4 3 2 1 
e. Answer not known 
gpd;tUtdtw;iwg; nghUj;Jf: 
A. nkl;uh]; kUj;Jtg; gs;sp   1. 1837 
B. nkl;uh]; gpurpnld;rp fy;Y}hp  2. 1835 
C. nkl;uh]; fpwp];Jtf; fy;Y}hp  3. 1842 
D. gr;irag;gh]; fy;Y}hp   4. 1840 
 A B C D 
a. 2 1 4 3 
b. 2 4 1 3 
c. 2 4 3 1 
d. 4 3 2 1 
e. tpil njhpatpy;iy 
 

35. Who among the following was appointed as the Zamindar of Ramnad by East 
India Company in the place of Muthu Ramalinga Sethupathi? 
a. Mangaleswari Nachiyar    b. Maruthu Pandiyar 
c. Raja Udaiyappa Sethupathi   d. Raghunatha Sethupathi II 
e. Answer not known 
fPo;fz;lth;fspy; Kj;Juhkypq;f NrJgjpf;F gjpyhf fpof;F ,e;jpa 
fk;ngdpahy; uhk;ehl;bd; [kPd;jhuhf epakpf;fg;gl;lth; ahh;? 
a. kq;fNy];thp ehr;rpahh;    b. kUJ ghz;bah;   
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c. uh[ cilag;g NrJgjp    d. ,uz;lhk; uFehj NrJgjp 
e. tpil njhpatpy;iy 
 

36. Read the following Assertion and Reason and choose the correct answer from 
the code given below. 
Assertion [A]: Anwar-ud-Din, the Nawab of Carnatic sent an army to fight 
against the French in 1746. 
Reason [R]:  Dupleix, the French Governor, failed to keep the promise of 
surrendering Madras to Nawab after its recapture. 
a. [A] is true but [R] is false 
b. Both [A] and [R] are true and [R] is the correct explanation of [A]. 
c. [A] is false, [R] is true 
d. Both [A] and [R] are true, but [R] is not the correct explanation of [A]. 
e. Answer not known 
gpd;tUk; $w;iwAk;> fhuzj;ijAk; gbj;Jf; fPNo nfhLf;fg;gl;Ls;s 
FwpaPl;bypUe;J rhpahd gjpiyj; Njhe;njLf;fTk;. 
cWjpahd $w;W [A]: fh;ehlfhtpd; ethg; md;th; cj;jpd; gpnuQ;Rf;fhuh;fis 
vjph;j;Jg; Nghupl 1746y; xU gilia mDg;gpdhh;. 
fhuzk; [R]:   nkl;uh]; ifg;gw;wg;gl;l gpwF mij ethg;gplk; 
xg;gilg;Ngd; vd;w thf;FWjpiag; gpnuQ;R fth;dh; epiwNtw;wj; jtwptpl;lhh; 
a. [A] rhp Mdhy; [R] jtW 
b. [A] kw;Wk; [R] rhp kw;Wk; [R], [R] tpw;fhd rhpahd tpsf;fk; 
c. [A] jtW [R] rhp 
d. [A] kw;Wk; [R] rhp> Mdhy; [R], [A] tpw;fhd rhpahd tpsf;fk; ,y;iy 
e. tpil njhpatpy;iy 
 

37. Match the constitutional amendments to their corresponding acts correctly. 
Amendment    Subject matter 
A. 91st Amendment Act 1. The council of Ministers must contain no more  

than 15% of the Lok Sabha members, including 
the Prime Minister 

B. 102nd Amendment Act 2. Women are given one-third of all seats in the  
Lok Sabha 

C. 105th Amendment Act 3. It grants constitutional status to the National 
         Commission for Backward classes 
D. 106th Amendment Act 4. The State government is empowered again to 
           identify and specify socially and economically 
            backward classes 
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 A B C D 
a. 1 4 2 3 
b. 2 1 3 4 
c. 4 1 3 2 
d. 1 3 4 2 
e. Answer not known 
murpayikg;Gj; jpUj;jq;fis mtw;wpd; njhlh;Gila jpUj;jr; rl;lq;fSld; 
rhpahfg; nghUj;Jq;fs;. 
jpUj;jk;    nghUslf;fk; 
A. 91MtJ jpUj;jr; rl;lk; 1. mikr;rh;fs; FOtpy; gpujkh; cl;gl  

kf;fsit cWg;gpdh;fspy; 15 tpOf;fhLf;F Nky; 
,Uf;ff;$lhJ 

B. 102MtJ jpUj;jr; rl;lk; 2. kf;fsitapy; ngz;fSf;F %d;wpy; xU gq;F 
      ,lq;fs; toq;fg;gLk; 
C. 105 MtJ jpUj;jr; rl;lk  3. ,J gpw;gLj;jg;gl;l tFg;gpdUf;fhd Njrpa 

Mizaj;jpw;F murpayikg;Gj; jFjp epiyia 
toq;FfpwJ. 

D. 106 MtJ jpUj;jr; rl;lk;  4. r%f kw;Wk; nghUshjhuj;jpy; gpd;jq;fpa 
         tFg;gpdiuf; fz;lwpe;J Fwpg;gpLk; mjpfhuk;  

khepy muRf;F kPz;Lk; toq;fg;gl;Ls;sJ. 
 A B C D 
a. 1 4 2 3 
b. 2 1 3 4 
c. 4 1 3 2 
d. 1 3 4 2 
e. tpil njhpatpy;iy 
 

38. Which of the following statements is true about World Tamil Diaspora Day? 
(i) The Chief Minister of Tamil Nadu declared January 12 as World Tamil 

Diaspora Day 
(ii) The Diaspora Tamils conference was successfully held, with the theme 

of „we will win‟ 
(iii) Rs. 5 crore has been sanctioned for the establishment of Tamil Parapurai 

Kazhagam to teach Tamil to Tamils living in foreign countries. 
a. (i) only    b. (i) and (iii) only  c. (i) and (ii) only 
d. (ii) and (iii) only  e. Answer not known 
cyfj; jkpo; Gyk;ngah; ehs; gw;wpa gpd;tUk; $w;Wfspy; vJ cz;ik? 
(i) jkpof Kjyikr;rh; mth;fs; [dthp 12-I cyf Gyk;ngah; jkpoh; 

jpdkhf mwptpj;jhh;. 
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(ii) „ehk; nty;Nthk;‟ vd;w fUg;nghUSld; Gyk;ngah; jkpoh;fs; khehL 
rpwg;ghf eilngw;wJ.  

(iii) ntspehLfspy; thOk; jkpoh;fSf;Fj; jkpo; fw;gpf;f jkpo;g; gug;Giu 
fofk; mikg;gjw;F &. 5 Nfhb xJf;fPL nra;ag;gl;Ls;sJ. 

a. (i) kl;Lk;    b. (i) kw;Wk; (iii) kl;Lk; c. (i) kw;Wk; (ii) kl;Lk; 
d. (ii) kw;Wk; (iii) kl;Lk;  e. tpil njhpatpy;iy 
 

39. Which of the following is correctly paired? 
(1) Manjusha Kanwar - Badminton 
(2) Vineet Kumar Sharma - Chess 
(3) Kavitha Selvaraj  - Kabaddi 
(4) R. Vaishali  - Hockey 
a. (2) and (4) are correct b. (1) and (3) are correct  

c. (3) and (4) are correct d. (1) and (2) are correct  
e. Answer not known 
fPo;f;nfhLf;fg;gl;ltw;Ws; nghUj;jkhd ,iziaj; Njh;e;njLf;fTk;. 
(1) kQ;R~h fd;th;  - ,wFg; ge;jhl;lk; 
(2) tpdPj;Fkhh; ~h;kh - rJuq;fk; 
(3) ftpjh nry;tuh[; - fgb 
(4) R. it~hyp  - `hf;fp 
a. (2) kw;Wk; (4) rhp  b. (1) kw;Wk; (3) rhp  c. (3) kw;Wk; (4) rhp 
d. (1) kw;Wk; (2) rhp  e. tpil njhpatpy;iy 
 

40. Match the following 
Schemes    Beneficiaries 
A. Naan Mudalvan  1. Public Grievances gets resolved 
B. Pudumai pen   2. Women Empowerment 
C. Vidiyal Payanam  3. Education Assistance for Girl Students 
D. Makkaludan Mudhalvar 4. Skill Development 
 A B C D 
a. 3 4 1 2 
b. 4 3 2 1 
c. 1 2 3 4 
d. 4 1 2 3 
e. Answer not known 
nghUj;Jf:    

jpl;lq;fs;   gadhspfs; 
A. ehd; Kjy;td;  1. nghJkf;fs; Fiwfs; ,y;yhky; jPh;f;fg;gLtJ 
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B. GJikg; ngz;   2. ngz;fSf;F mjpfhukspj;jy; 
C. tpbay; gazk;  3. khztpfSf;F fy;tp cjtpaspj;jy; 
D. kf;fSld; Kjy;th;  4. jpwd; Nkk;ghL 
 A B C D 
a. 3 4 1 2 
b. 4 3 2 1 
c. 1 2 3 4 
d. 4 1 2 3 
e. tpil njhpatpy;iy 
 

41. Find out the correct statements about the functions of District collector. 
(i) He handles work pertaining to civil defence 
(ii) He supervises the Municipal Administration in the District 
(iii) He presides over the District Plan Implementation Committee. 
a. (i) and (ii) only  b. (ii) only   c. (ii) and (iii) only 
d. (i), (ii) and (iii)  e. Answer not known 
khtl;l Ml;rpahpd; gzpfs; njhlh;ghd fPo;f;fz;l $w;Wf;fspy; rhpahdit 
vit? 
(i) mth; Fbikg; ghJfhg;Gj; njhlh;ghd gzpfis Nkw;nfhs;fpwhh;. 
(ii) mth; jd; khtl;lj;jpy; cs;s efh;g;Gw eph;thfj;ij Nkw;ghh;itapLfpwhh;. 
(iii) mth; khtl;l jpl;l nrayhf;ff; FOtpidj; jiyikNaw;W 

topelj;Jfpwhh; 
a. (i) kw;Wk; (ii) kl;Lk; b. (ii) kl;Lk;   c. (ii) kw;Wk; (iii) kl;Lk; 
d. (i), (ii) kw;Wk; (iii)  e. tpil njhpatpy;iy 
 

42. Select the “odd one” out. 
Consider the statements below regarding the advantages of State Industries 
Promotion Corporation of Tamil Nadu (SIPCOT) Limited. 
a. It creates and maintains well-designed industrial parks 
b. It facilitates the acquisition of land for industrial purpose for business 
c. It serves as a single point contact for investors 
d. It provides a range of loans and free electricity 
e. Answer not known 
jdpj;J NtWgLk; xd;iwj; njhpT nra;f. 
jkpo;ehL muR njhopy; Kd;Ndw;wf; fofj;jpd; (rpg;fhl;) ed;ikfs; Fwpj;J 
fPNo cs;s mwpf;iffisf; ftdpAq;fs;. 
a. ,J ed;F tbtikf;fg;gl;l njhopy;Jiw G+q;fhf;fis cUthf;fp 

guhkhpf;fpwJ. 
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b. njhopy; epWtdq;fSf;fhf epyj;ijf; ifaf;Lj;Jtjw;F ,J cjTfpwJ. 
c. ,J KjyPl;lhsh;fSf;F xw;iwj; njhlh;Gg; Gs;spahfr; nray;gLfpwJ. 
d. ,J gy;NtW fld;fisAk;> ,ytr kpd;rhuj;ijAk; toq;FfpwJ 
e. tpil njhpatpy;iy 

43. Assertion [A]: The Chief Minister of Tamil Nadu has ordered Rs. 5 Crore to 
    translate all works of Dr. B.R. Ambedkar. 
Reason [R]:  The translation works of Dr. B.R. Ambedkar into Tamil will  

be carried out by the Information Technology and Digital  
Service Department. 

a. [A] is true but [R] is false 
b. Both [A] and [R] are true and [R] is the correct explanation of [A]. 
c. [A] is false, [R] is true 
d. Both [A] and [R] are true, but [R] is not the correct explanation of [A] is 

correct. 
e. Answer not known 
$w;W [A]: mk;Ngj;fhpd; midj;Jg; gilg;GfisAk; nkhopngah;f;f &. 5 Nfhb 
toq;f jkpof Kjy;th; cj;jutpl;Ls;shh;. 
fhuzk; [R]: jfty; njhopy; El;gk; kw;Wk; b[pl;ly; Nritfs; Jiw %yk; 
mk;Ngj;fhpd; gilg;Gfs; jkpopy; nkhopngah;f;fg;gl cs;sJ. 
a. $w;W [A] rhp Mdhy; [R] jtW 
b. $w;W [A] kw;Wk; fhuzk; [R] ,uz;Lk; rhp; fhuzk; [R], [A] $w;Wf;F rhpahd 

tpsf;fk; 
c. $w;W [A] jtW> fhuzk; [R] rhp 
d. $w;W [A] kw;Wk; fhuzk; [R] ,uz;Lk; rhp> Mdhy; fhuzk; [R], [A] tpw;fhd 

rhpahd tpsf;fky;y vd;gJ rhpahdJ 
e. tpil njhpatpy;iy 
 

44. The power of the municipality to suspend (or) abolish tax is conferred by 
a. Section – 110  b. Section – 111  c. Section – 112 
d. Section – 113  e. Answer not known 
xU thpia ePf;fNth my;yJ epWj;jpitf;fNth efuhl;rpf;F mjpfhuk; toq;Fk; 
rl;lg;gphpthdJ 
a. gphpT – 110  b. gphpT – 111   c. gphpT – 112 
d. gphpT – 113  e. tpil njhpatpy;iy 
 

45. Assertion (A) : A secretary should be immersed in files and burdened with  
routine  

Rason (R) : It is essential that he should have time to grasp the overall picture,  
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size up  the problems facing the Government  
a. (A) is true but (R) is false  
b. Both (A) and (R) are true, and (R) is the correct explanation of (A)  
c. (A) is false, (R) is true  
d. Both (A) and (R) are true, but (R) is not the correct explanation of (A) is 

correct  
e. Answer not known 
$w;W (A) : xU nrayhsh; Nfhg;Gfspy; Mo;e;J kw;Wk; mJ tof;fkhd  

RikahfTk; ,Uf;f Ntz;Lk;.  
fhuzk; (R): murhq;fj;jpd; xl;Lnkhj;j fhl;rpfisAk;> vjph;nfhs;Sk;  

gpur;ridfisAk; mstpLtjw;F mtUf;F fhyk; ,Ug;gJ 
mtrpak;.  

a. (A) rhp Mdhy; (R) jtW  
b. (A) kw;Wk; (R) ,uz;Lk; rhp> kw;Wk; (A) f;F (R) rhpahd tpsf;fkhFk;  
c. (A) jtW> (R) rhp  
d. (A) kw;Wk; (R) ,uz;Lk; rhp> Mdhy; (A) f;F (R) rhpahd tpsf;fky;y 
vd;gJ rhp  
e. tpil njhpatpy;iy 
 

46. Arrange the following committees in chronological order.  
1. G.V.K. Rao committee    2. Ashok Mehta committee 
3. Balwantria Mehta committee  4. L.M. Singhvi committee  
a. (2), (3), (1), (4)   b. (3), (2), (1), (4)  c. (4), (3), (1), (2)  
d. (1), (4), (2), (3)  e. Answer not known 
gpd;tUk; FOf;fis fhythpirg;gb thpirg;gLj;Jf.  
a. G.V.K. uht; FO    2. mNrhf; Nkj;jh FO  
c. gy;te;j;uha; Nkj;jh FO   4. L.M. rpq;tp FO    
a. (2), (3), (1), (4)   b. (3), (2), (1), (4)  c. (4), (3), (1), (2)  
d. (1), (4), (2), (3)  e. tpil njhpatpy;iy 
 

47. Choose the correct answer :  
Which of the following statements are true about the Council of Minister‟s in 
State? 
i. The Council of Ministers shall be collectively responsible to the State 

Legislative Assembly  
ii. The Governor shall administer the oath of office and secrecy to a 

Minister  
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iii. The Salaries and allowances of state Ministers shall be determined by 
the Union Legislature  

a. (i) only correct   b. (i) and (ii) only correct  

c. (ii) and (iii) only correct  d. (i) and (iii) only correct  
e. Answer not known 
rhpahd tpiliaj; Njh;T nra;f.  
gpd;tUk; thf;fpaq;fspy; khepy mikr;rh;fs; gw;wpa rhpahd $Wfisj; Njh;T 
nra;f.  
i. khepy mikr;rh;fs; khepy rl;l kd;wj;jpw;Ff; $l;lhfg; 

nghWg;Gilath;fs;  
ii. khepy mikr;rh;fSf;F MSeh; mth;fs; ,ufrpa fhg;G kw;Wk; gjtpg; 

gpukhzk; nra;J itg;ghh;.  
iii. khepy mikr;rh;fspd; nrytpdq;fs; rYiffs; kw;Wk; gpw gbfis 

kj;jpa ghuhSkd;wNk jPh;khdpf;Fk;  
a. (i) kl;Lk; rhp    b. (i) kw;Wk; (ii) rhp  
c. (ii) kw;Wk; (iii) rhp    d. (i) kw;Wk; (iii) rhp  
e. tpil njhpatpy;iy 
 

48. Consider the following statements about the composition of the House of the 
people.  
a. It shall be composed on not more than 20 representatives from the union 

Treeitories.  
b. It shall be composed of not more than 2 members of the Anglo-Indian 

community, nominated by the Prime Minister.  
c. It shall be composed of not more than 552 representatives of the state  
d. The President shall nominate 12 people having special knowledge in 

Literature, Science, Art and Social Science.  
e. Answer not known 
kf;fsitapd; mikg;G gw;wpa gpd;tUk; mwpf;iffis gbj;J rhpahd 
tpsf;fj;ij Njh;e;njLf;fTk;.  
a. ,J xd;wpa Ml;rpg; gFjpfspy; ,Ue;J 20 gpujpepjpfSf;F kpfhky; ,Uf;f 

Ntz;Lk;.  
b. ,J gpujkuhy; epakpf;fg;gLk; Mq;fpNyh - ,e;jpad; r%fj;jpd; 2 

cWg;gpdh;fSf;F kpfhky; ,Uf;f Ntz;Lk;.  
c. ,J khepyq;fspy; ,Ue;J 552 gpujpepjpfSf;F kpfhky; ,Uf;f Ntz;Lk;.  
d. ,yf;fpak;> mwptpay;> fiy kw;Wk; r%f mwptpaypy; rpwg;G Gyik ngw;w 

12 egh;fis FbauRj;jiyth; ghpe;Jiug;ghh;  
e. tpil njhpatpy;iy 
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49. Match List – I with List – II and select the correct answer by using the codes 
given below the list.  

List – I (Writs)    List – II (Literal Meaning)  
 A. Habeas Corpus    1. By what authority  
 B. Mandamus     2. To be certified  
 C. Certiorari    3. We command  
 D. Quo Warranto    4. To have the body of   
  A B C D 
 a. 4 3 2 1  
 b. 2 4 1 3 
 c. 3 4 1 2  
 d. 1 4 3 2 

e. Answer not known 
fPo;nfhLf;fg;gl;Ls;s gl;bay; I kw;Wk; II-y; cs;stw;iw rhpahf nghUj;Jf.  
 gl;bay; - I     gl;bay; II  
 (ePjpg;Nguhiz)    (Neub nghUs;) 
A. Ml;nfhzh;T ePjp Nguhiz   1. vj;jifa jFjp chpik  
B. nraYWj;Jk; ePjp Nguhiz   2. rhd;wspg;G  
C. newpKiw cWj;Jk; ePjp Nguhiz  3. MizapLjy;  
D. jFjp Kiw tpdTk; ePjp Nguhiz  4. Xh; egiu M[h;gLj;Jjy;  

A B C D 
 a. 4 3 2 1  
 b. 2 4 1 3 
 c. 3 4 1 2  
 d. 1 4 3 2 

e. tpil njhpatpy;iy 
 

50. Which of the following statements are true?  
i. Parliament is empowered to constitute a High court for any Union 

Territory  
ii. Of all the union Territories, Delhi does not have a separate High court of 

its own.  
iii. Arunachal Pradesh and Mizoram became full fledged states in 1987.  
a. (ii) and (iii) only    b. (ii) only  
c. (i) and (ii) only    d. (i) and (iii) only  

e. Answer not known 
gpd;tUk; $w;Wfspy; rhpahditfs; vit?  
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i. ve;j xU A+dpad; gpuNjrj;jpw;fhd cah;ePjpkd;wj;ij mikg;gjw;fhd 
mjpfhuj;ij ghuhSkd;wk; ngw;Ws;sJ.  

ii. midj;J A+dpad; gpuNjrq;fSf;Fk;> nly;ypf;Fk; jdpNa cah;ePjpkd;wk; 
,y;iy.  

iii. mUzhr;ry gpuNjrk; kw;Wk; kpNrhuk; 1987 – Mk; Mz;L KO mstpy; 
khepyq;fshapd.  

a. (ii) kw;Wk; (iii) kl;Lk; b. (ii) kl;Lk;  
c. (i) kw;Wk; (ii) kl;Lk;  d. (i) kw;Wk; (iii) kl;Lk;  
e. tpil njhpatpy;iy 

 
51. In which of the following cases did the supreme court hold that  “The 

preamble is an integral part of the Indian Constitution”? 
a. Shankari Prasad case (1951)  
b. LIC of India Case (1995) 
c. Indira Nehru Gandhi case (1975) 
d. Maneka Gandhi Case (1978) 
e. Answer not known 
ve;j tof;fpy; cr;rePjpkd;wk; “,e;jpa murpayikg;gpd; Kd;Diu 
murpayikg;gpd; xUq;fpize;j gFjp” vd;W jPh;g;G toq;fpaJ? 
a. rq;fhp gpurhj; tof;F (1951) 
b. vy;.I.rp. tof;F (1995) 
c. ,e;jpuh NeU fhe;jp tof;F (1975) 
d. Nkdfh fhe;jp toq;F (1978) 
e. tpil njhpatpy;iy 
 

52. Arrange the following events of PCR in the correct order of occurrence 
1. Annealing   2. Extension 
3. Denaturation   4. Gel Making 
a. 3, 4, 2, 1   b. 1, 2, 3, 4    c. 2, 1, 3, 4  
d. 3, 1, 2, 4   e. Answer not known 
gpd;tUk; PCR-d; epfo;Tfisr; rhpahd thpirg;gb mikf;fTk; 
1. gjdg;gLj;jy;   2. tphptiljy; 
3. ,ay;G ,oj;jy;  4. n[y; jahhpj;jy; 
a. 3, 4, 2, 1   b. 1, 2, 3, 4    c. 2, 1, 3, 4 
d. 3, 1, 2, 4   e. tpil njhpatpy;iy 
 

53. Why was the My Scheme Platform introduced by the Government of India? 
a. To provide online shopping for government products 
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b. To allow users to discover eligible government schemes based on their 
demography 

c. To give citizens free access to educational resources 
d. To help people apply for government jobs across the country 
e. Answer not known 
My Scheme ,aq;Fjsk; Vd; ,e;jpa murhy; mwpKfg;gLj;jg;gl;lJ/ 
a. muR jahhpg;GfSf;F Md;iyd; ~hg;gpq; toq;Fjy; 
b. gadh;fs; jq;fspd; kf;fs;njhif mbg;gilapy; jFjpahd muR 

jpl;lq;fis fz;lwpa mDkjpg;gJ 
c. Fbkf;fSf;F fy;tp tsq;fis ,ytrkhf toq;Fjy; 
d. ehL KOtJk; cs;s murhq;f NtiyfSf;F tpz;zg;gpf;Fk; kf;fSf;F 

cjTjy; 
e. tpil njhpatpy;iy 

 
54. Match the following 

A. Conjugate vaccine  1. Polio 
B. Toxoid vaccine  2. Hepatitis – B 
C. Killed vaccine   3. Measles 
D. Attenuated vaccine  4. Diphtheria 
 A B C D 
a. 3 2 4 1 
b. 2 4 1 3 
c. 4 3 2 1 
d. 1 3 4 2 
e. Answer not known 
nghUj;Jf 
A. ,iz jLg;g+rp  1. ,sk;gps;is thjk; 
B. lhf;]ha;L jLg;g+rp  2. n`gilb];-B 
C. nfhy;yg;gl;l jLg;g+rp 3. jl;lk;ik 
D. ml;nld;a+l;ll; jLg;g+rp 4. bg;jPhpah 
 A B C D 
a. 3 2 4 1 
b. 2 4 1 3 
c. 4 3 2 1 
d. 1 3 4 2 
e. tpil njhpatpy;iy 
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55. Which plant was recently genetically engineered to help combat climate 
change by absorbing more CO2? 
a. Rice   b. Soya Bean   c. Pine Tree 

d. Corn   e. Answer not known 
gpd;tUtdtw;Ws; ve;jj; jhtuk; mjpf CO2 cwpQ;Rk; jpwDld;> fhyepiy> 
khw;wj;NjhL NghuhLk; tifapy; kugZ khw;wk; nra;ag;gl;lJ? 
a. mhprp   b. NrhahgPd;  c. igd; kuk; 
d. Nrhsk;   e. tpil njhpatpy;iy 
 

56. Grape cell cultures are rich in 
a. Anthoxanthin  b. Anthocyanin  c. Pyrethrin 
d. Taxol   e. Answer not known 
jpuhl;ir nry; tsh;g;gpy; vJ epiwe;Js;sJ? 
a. me;Njhrhe;jpd;  b. me;Njhradpd;   c. ignuj;hpd; 
d. lhf;rhy;   e. tpil njhpatpy;iy 
 

57. Assertion(A): Acid rain means the presence of acids in rain water 
Reason (R): Atmosphere contains oxides of nitrogen and sulphur  

produced by combustion of fuels 
a. A is true R is false 
b. A is false R is true 
c. Both A and R are false 
d. Both A and R are true and R is correct explanation of A 
e. Answer not known 
$w;W (A): mkpykio vd;gJ kioePh; mjpf mkpyj; jd;ikAld;  

nghoptJ 
fhuzk; (R): vhpnghUl;fis vhpg;gjhy; tspkz;lyk; iel;u[d; kw;Wk;  

fe;jfj;jpd; Mf;irLfis nfhz;Ls;sJ. 
a. A rhp R jtW 
b. A jtW R rhp 
c. A kw;Wk; R ,uz;LNk jtW 
d. A kw;Wk; R ,uz;LNk rhp R vd;gJ A f;F rhpahd tpsf;fk; 
e. tpil njhpatpy;iy 
 

58. Which of the following is incorrectly paired? 
i. Silicone rubber  - inert to body fluids 
ii. Plasticizer  - make plastics brittle 
iii. Laminate  - blend of adhesive and adherend 
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iv. Filler   - improve mechanical properties 
a. i and iv only  b. ii only    c. i and iii only 
d. ii and iv only  e. Answer not known 
gpd;tUtdtw;wpy; vJ jtwhf ,izf;fg;gl;Ls;sJ? 
i. rpypNfhd; ug;gh; - cly; jputq;fSld; tpidGhpahJ 
ii. gpsh];birrh; - nefpopia cilar; nra;Ak; 
iii. NykpNdl;  - gprpd; kw;Wk; xl;bfspd; fyit 
iv. epug;gp   - ,ae;jpu gz;Gfis Nkk;gLj;j 
a. i kw;Wk; iv kl;Lk;  b. ii kl;Lk;  
c. i kw;Wk; iii kl;Lk;  d. ii kw;Wk; iv kl;Lk; 
e. tpil njhpatpy;iy 
 

59. What is the theme of “Word Space Week 2024” celebrated from, October 4th to 
10th 2024? 
a. Space and climate change  b. Space and energy sustainability 
c. Women in space   d. The moon: Gateway to the stars 
e. Answer not known 
2024> mf;Nlhgh; 4 Kjy; 10 tiuapyhd xU thuj;jpy; ve;j fUj;JUtpd; 
mbg;gilapy; “cyf tpz;ntsp thuk; 2024” nfhz;lhlg;gl;lJ? 
a. tpz;ntsp kw;Wk; fhyepiy khw;wk; 
b. tpz;ntsp kw;Wk; Mw;wy; epiyj;jd;ik 
c. tpz;ntspapy; kfsph; 
d. epyh : el;rj;jpuq;fspd; thapy; 
e. tpil njhpatpy;iy 

 
60. Which of the following are incorrectly paired? 

1. 2016 - The Rights of Persons with Disabilities Act 
2. 1992 - National Trust Act 
3. 2013 - National Food Security Act 
4. 1999 - Rehabilitation Council Act 
a. 1 and 3 are incorrect  b. 1 and 4 are incorrect 
c. 2 and 3 are incorrect  d. 2 and 4 are incorrect 

e. Answer not known 
 gpd;tUtdtw;Ws; vit jtwhfg; nghUj;jg;gl;Ls;sd? 

1. 2016 - khw;Wj;jpwdhspfs; chpikfs; rl;lk; 
2. 1992 - Njrpa mwf;fl;lis rl;lk; 
3. 2013 - Njrpa czTg; ghJfhg;Gr;rl;lk; 
4. 1999 - Gdh;tho;T kd;wr; rl;lk; 
a. 1 kw;Wk; 3 jtwhdit b. 1 kw;Wk; 4 jtwhdit 
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c. 2 kw;Wk; 3 jtwhdit e. 2 kw;Wk; 4 jtwhdit 
e. tpil njhpatpy;iy 
 

61. Under POCSO Act 2012, any person who fails to report an offence to the 
police shall be punishable with which of the following? 
a. Imprisonment upto six months 
b. Imprisonment upto one year and with fine 
c. Imprisonment upto six months or fine or both 
d. Imprisonment upto three months 
e. Answer not known 
POCSO rl;lk; 2012,d; fPo;> ve;j xU egUk; xU Fw;wj;ij fhty; Jiwaplk; 
Gfhuspf;fj; jtwpdhy;> gpd;tUtdtw;wpy; vjdhy; jz;bf;fg;gLthh;? 
a. 6 khjq;fs; tiu rpiw jz;lid 
b. 1 tUlk; rpiw jz;lid kw;Wk; mguhjk; 
c. 6 khjq;fs; tiu rpiw jz;lid my;yJ mguhjk; my;yJ ,uz;Lk; 
d. 3 khjq;fs; tiu rpiw jz;lid 
e. tpil njhpatpy;iy 

 
62. In which year the Scheduled Castes and Scheduled Tribes (Prevention of 

Atrocities) Act was passed? 
a. 1989  b. 1987    c. 1986 
d. 1985  e. Answer not known 
ml;ltizg;gLj;jg;gl;l rhjpfs; kw;Wk; goq;Fbapdh; (ml;^opaq;fs; jLg;G) 
rl;lk; ve;j Mz;L ,aw;wg;gl;lJ? 
a. 1989  b. 1987    c. 1986 
d. 1985  e. tpil njhpatpy;iy 
 

63. Assertion (A): Modern education played a crucial role in smashing the chains 
of social oppression 
Reason (R): Lack of education among marginalised groups restricted them to 
do low occupations 
a. A is true but R is false 
b. Both A and R are true and R is the correct explanation of A 
c. A is false but R is true 
d. Both A and R are true, but R is not the correct explanation of A 
e. Answer not known 
$w;W (A): r%f xLf;Fkiwapd; rq;fpypfis cilg;gjpy; etPd  

fy;tpKiw Kf;fpa gq;F tfpf;fpwJ 
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fhuzk; (R): jho;j;jg;gl;l kf;fspilNa fhzg;gLk; fy;tpapd;ik  
mth;fis jho;e;j njhopy;fis Nkw;nfhs;sr; nra;fpwJ 

a. A rhp Mdhy; R jtW 
b. A kw;Wk; R ,uz;Lk; rhp R vd;gJ A ,d; rhpahd tpsf;fk; 
c. A jtW Mdhy; R rhp 
d. A kw;Wk; R ,uz;Lk; rhp Mdhy; R vd;gJ A ,d; rhpahd tpsf;fk; my;y 
e. tpil njhpatpy;iy 

 
64. Choose the right matches among types 

1. PMSSY   – Pradhan Mantri Swasthya Suraksha Yojana  
(Prime Minister Health Protection Programme) 

2. NTEP   – National Tobacco Eliminatin Programme 
3. NVBDCP  – National Vector Borne Disease Control  

Programme 
4. JSSK   – Janani Shiksha Suraksha Karyakram (Mother  

Education Protection Programme) 
 a. 2 and 3 are correct  b. 3 and 4 are correct 
 c. 1 and 3 are correct  d. 1 and 2 are correct 
 e. Answer not known 
 fPo;f;fz;ltw;wpy; vJ rhpahf nghUe;jpAs;sJ? 

1. PMSSY   – Pradhan Mantri Swasthya Suraksha Yojana  
(Prime Minister Health Protection Programme) 

2. NTEP   – National Tobacco Eliminatin Programme 
3. NVBDCP  – National Vector Borne Disease Control  

Programme 
4. JSSK   – Janani Shiksha Suraksha Karyakram (Mother  

Education Protection Programme) 
 a. 2 kw;Wk; 3 rhpahdit  b. 3 kw;Wk; 4 rhpahdit 
 c. 1 kw;Wk; 3 rhpahdit  d. 1 kw;Wk; 2 rhpahdit 
 e. tpil njhpatpy;iy 
 
65. With reference to „Chief Minister‟s Breakfast Scheme‟ consider the following 

statements 
1. This scheme has been started by the Tamilnadu 
2. It wil be implemented in all Primary Schools in the state 
3. This scheme is a pioneer Scheme in India and model for others to emulate 
Select the correct answer using the code given below 
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a. 1 and 2 only   b. 2 and 3 only  c. 1 and 3 only 
d. 1, 2 and 3   e. Answer not known 
Kjy;thpd; fhiy czT jpl;lk; gw;wp Fwpg;Gld; gpd;tUk; mwpf;ifiaf; 
ftdpAq;fs; 
1. ,e;j jpl;lk; jkpo;ehl;by; njhlq;fg;gl;lJ 
2. khepyj;jpYs;s midj;J njhlf;f gs;spfspYk; ,J nray;gLj;jg;gLk; 
3. ,e;j jpl;lk; ,e;jpahtpy; xU Kd;Ndhb jpl;lk; kw;Wk; kw;wth;fs; 

gpd;gw;Wtjw;F Kd;khjphpahFk; 
fPNo nfhLf;fg;gl;l FwpaPl;il gad;gLj;jp rhpahd gjpiy Njh;f 
a. 1 kw;Wk; 2 kl;Lk;  b. 2 kw;Wk; 3 kl;Lk; 
c. 1 kw;Wk; 3 kl;Lk;  d. 1> 2> kw;Wk; 3 
e. tpil njhpatpy;iy 
 

66. What is/are the primary role/s of the Chief Minister Dashboard in Tamil 
Nadu? 
i. To provide tourism statistics 
ii. To monitor government department performance 
iii. To manage health care services 
a. i only   b. ii only   c. i and ii only 
d. ii and iii only  e. answer not known 
jkpo;ehl;by; Kjy;th; lh~;Nghh;bd; Kjd;ikg; gq;F vd;d? 
i. Rw;Wyhj; Jiwapd; Gs;sp tptuq;fisj; jUtJ 
ii. muR Jiwfspd; nray;ghLfisf; fz;fhzpg;gJ 
iii. Rfhjhur; Nritfis eph;tfpg;gJ 
a. i kl;Lk;   b. ii kl;Lk;   c. i kw;Wk; ii kl;Lk; 
d. ii kw;Wk; iii kl;Lk; e. tpil njhpatpy;iy 
 

67. Assertion (A): The Demographic transition varies between Districts 
Reason (R): The districts of high economic growth attract larger  

population 
a. A is true R false 
b. A and R are true but R is not the correct explanation for A 
c. Both A and R are false 
d. Both A and R are true and R is correctly explaining A 
e. Answer not known 
$w;W (A): khtl;lq;fspilNa kf;fs;njhif khw;wk; NtWgLfpwJ 
fhuzk; (R): mjpf nghUshjhu tsh;r;rp nfhz;l khtl;lq;fs; mjpf kf;fis 
<h;f;fpd;wd 
a. A rhp R jtW 
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b. A kw;Wk; R rhp Mdhy; R vd;gJ A it tpsf;ftpy;iy 
c. A kw;Wk; R ,uz;Lk; jtW 
d. A kw;Wk; R rhp Mdhy; R vd;gJ A it tpsf;FfpwJ 
e. tpil njhpatpy;iy 

 
68. Which is/are the feature/s of Tamilnadu Agriculture Budget Schemes 2022-23 

is true? 
1. The Chief Minister‟s dry land development mission targets irrigation 

dependent crops 
2. The integrated farming system promotes crop cultivation with livestock 

rearing 
3. Traditional paddy varieties are preserved under Nel Jayaraman Mission 
a. 1 only   b. 1 and 2 only   c. 2 and 3 only 
d. 1 and 3 only  e. Answer not known 
2022-23Mk; Mz;bw;fhd jkpo;ehL Ntshz;ik gl;n[l; jpl;lq;fspd; 
mk;rq;fspy; gpd;tUtdtw;wpy; vJ cz;ik? 
1. Kjyikr;rhpd; jhpR epy Nkk;ghl;L ,af;fk; ePh;g;ghrdk; rhh;e;j gaph;fis 

,yf;fhff; nfhz;lJ 
2. xUq;fpize;j gz;iz Kiw gaph; rhFgbAld; fhy;eil tsh;g;igAk; 

nfhz;lJ 
3. ney; n[auhkd; ,af;fk; 5ykhf ghuk;ghpa ney; tpijfis ghJfhj;jy; 
a. 1 kl;Lk;    b. 1 kw;Wk; 2 kl;Lk;   
c. 2 kw;Wk; 3 kl;Lk;  d. 1 kw;Wk; 3 kl;Lk; 
e. tpil njhpatpy;iy 
 

69. Tamil Nadu‟s GSDP growth rates were 8.13% in 2022-23 and _________ % in 
2023-24 at constant prices 
a. 8.18%  b. 8.23%    c. 8.28% 
d. 8.33%  e. Answer not known 
jkpo;ehl;bd; GSDP tsh;r;rp tpfpjk; epiyahd tpfpjj;jpy; 2022-23y; 8.13% 
MfTk; 2023-24,y; _____ % MfTk; ,Ue;jJ 
a. 8.18%  b. 8.23%    c. 8.28% 
d. 8.33%  e. tpil njhpatpy;iy 
 

70. Which of the following is correctly paired? 
1. SDMA - State Disaster Management Action 
2. SFDRR - Sendai Framework for Disaster Risk Reduction 
3. SDMP - State Disaster Management Project 
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4. NEOC - National Emergency Operation Committee 
a. 1 and 2 are correct  b. 2 and 4 are correct 
c. 3 and 4 are correct  d. 1 and 4 are correct 
e. Answer not known 
fPo;tUtdtw;wpy; rhpahd ,iz vJ? 
1. SDMA - khepyg; Nghplh; Nkyhz;ikr; nray;ghL 
2. SFDRR - Nghplh; mghaj;ijf; Fiwg;gjw;fhd nrd;lha; fl;likg;G 
3. SDMP - khepyg; Nghplh; Nkyhz;ikj; jpl;lk; 
4. NEOC - Njrpa mtru eltbf;iff; FO 
a. 1 kw;Wk; 2 rhp   b. 2 kw;Wk; 4 rhp 
c. 3 kw;Wk; 4 rhp   d. 1 kw;Wk; 4 rhp 
e. tpil njhpatpy;iy 
(None of the options is correct) 
 

71. Name one of the cyclones which wrecked havoc in Tamil Nadu and Kerala in 
the month of November to December 2017 
a. Vardah   b. Ockhi   c. Nisha 
d. Maarutha  e. Answer not known 
2017 etk;gh; kw;Wk; brk;gh; khjq;fspy; jkpo;ehL kw;Wk; Nfushtpy; Nguopit 
Vw;gLj;jpa #whtspapd; ngaiuf; Fwpg;gpLf 
a. th;jh   b. xf;fp    c. ep~h 
d. kUjh   e. tpil njhpatpy;iy 
 

72. The title of the Brundtland report is 
a. Caring for earth   
b. Caring and sharing 
c. Our common future  

d. Environment-friendly Resource Consumption 
e. Answer not known 
gpud;l;yz;l; mwpf;ifapd; jiyg;G 
a. G+kpia ftdpj;Jf; nfhs;tJ 
b. ftdpj;Jf; nfhs;tJ kw;Wk; gfph;tJ 
c. ekJ nghJthd vjph;fhyk; 
d. Rw;Wr;#oy; el;G rhh;e;j tsq;fs; Efh;T 
e. tpil njhpatpy;iy 

 
73. Match the following 

Column I    Column II 
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A. Bioassay organism  1. Vespula germanica 
B. Accumulator species 2. Palm tree 
C. Keystone species  3. Woodlice 
D. Exotic species   4. Trout 
 A B C D 
a. 2 4 1 3 
b. 3 1 4 2 
c. 4 3 2 1 
d. 3 2 4 1 
e. Answer not known 
nghUj;Jf 
neLthpir I    neLthpir II 
A. caph; gFg;gha;T caphpdq;fs; 1. nt];Gyh n[h;khdpf;fh 
B. jpul;b ,dq;fs;   2. gid kuk; 
C. iky;fy; ,dq;fs;   3. kug;Ngd; 
D. may;ehl;L ,dq;fs;   4. l;nusl; kPd; 
 A B C D 
a. 2 4 1 3 
b. 3 1 4 2 
c. 4 3 2 1 
d. 3 2 4 1 
e. tpil njhpatpy;iy 
 

74. Consider the following points about a biosphere reserve? 
A. It is the largest continuous mangrove area 
B. Tropical semi-evergreen forests 
C. Agrosystems, silviculture, pisciculture and prawn culture 
D. The largest mangal diversity in the world its core area has been designated 

as world heritage site 
This biosphere reserve is 
a. Shankou mangrove biosphere reserve 
b. Can Gio mangrove biosphere reserve 
c. Gulf of mannar biosphere reserve 
d. Sunderbans mangrove biosphere reserve 
e. Answer not known 
caph;f;Nfhs fhg;gplk; gw;wpa gpd;tUk; Fwpg;Gfis fUj;jpy; nfhz;L ve;j xU 
caph;f;Nfhs fhg;gplj;jpw;F nghUe;JfpwJ vd;W Njh;e;njLf;fTk; 
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A. ,J xU kpfg;nghpa mLj;jLj;j rJg;G epy gug;G 
B. ntg;gkz;ly miu gRik khwh fhL 
C. tptrha mikg;Gfs;> rpy;tpfy;rh;> kPd;tsh;g;G kw;Wk; ,why; tsh;g;G 
D. cyfshtpa kpfg;nghpa kq;fy; caphpa gy;tifik kw;Wk; mjd; Kf;fpa 

gFjpfs; cyf ghuk;ghpa jskhf tbtikj;Js;sJ 
caph;f;Nfhs fhg;gplk; vd;gJ 
a. ~hq;Nfh rJg;Gepy caph;f;Nfhs fhg;gplk; 
b. Nfd; [pNah rJg;Gepy caph;f;Nfhs fhg;gplk; 
c. kd;dhh; tisFlh caph;f;Nfhs fhg;gplk; 
d. Re;jutd rJg;Gepy caph;f;Nfhs fhg;gplk; 
e. tpil njhpatpy;iy 

 
75. The work of laying Optical Fibre Cable (OFC) was initiated at ____ village of 

Kanyakumari District 
a. Chinnamuttom  b. Kodimunai  c. Neyyoor 
d. Muthalakurichi  e. Answer not known 
fd;dpahFkhp khtl;lk; _____ fpuhkj;jpy; Mg;bfy; /iggh; Nfgps; gjpf;Fk; 
gzp njhlq;fg;gl;lJ 
a. rpd;dKl;lk;   b. nfhbKid  c. nea;a+h; 
d. Kj;jyf;Fwpr;rp   e. tpil njhpatpy;iy 
 

76. Which of the following is incorrectly paired? 
Rivers   Tributaries 
1. Cauvery   Amaravathi 
2. Thamirabharani Pampar 
3. Vaigai   pechiyar 
4. Vellar   Manjalar 
a. 1 and 3   b. 1 and 2    c. 3 and 2 
d. 3 and 4   e. Answer not known 
gpd;tUtdtw;Ws; vit jtwhf ,izf;fg;gl;Ls;sd? 
ejpfs;   Jiz ejpfs; 
1. fhtphp   mkuhtjp 
2. jhkpuguzp  ghk;ghW 
3. itif   Ngr;rpahW 
4. nts;shW  kQ;rshW 
a. 1 kw;Wk; 3  b. 1 kw;Wk; 2   c. 3 kw;Wk; 2 
d. 3 kw;Wk; 4  e. tpil njhpatpy;iy 
 

77. Which of the following is incorrectly paired? 
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1. Hindu Religious Endowment Act    - 1925 
2. The Madras State Aid to Industries Act   - 1923 
3. Annamalai University established    - 1929 
4. E.V. Ramaswami Launch the Self Respect Movement - 1930 
a. 2 and 4 are not correct  b. 2 and 3 are not correct 
c. 3 and 4 are not correct  d. 1 and 4 are not correct 
e. Answer not known 
gpd;tUtdtw;wpy; vJ jtwhf ,izf;fg;gl;Ls;sJ? 
1. ,e;J rka mwepiyj;Jiw rl;lk;    - 1925 
2. nkl;uh]; khepy cjtp ngWk; njhopy;Jiw rl;lk; - 1923 
3. mz;zhkiy gy;fiyf;fofk; epWtg;gl;lJ   - 1929 
4. <.nt.uhkrhkp Rakhpahij ,af;fj;ijj; Njhw;Wtpj;jhh; - 1930 
a. 2 kw;Wk; 4 rhpahdit ,y;iy 
b. 2 kw;Wk; 3 rhpahdit ,y;iy 
c. 3 kw;Wk; 4 rhpahdit ,y;iy 
d. 1 kw;Wk; 4 rhpahdit ,y;iy 
e. tpil njhpatpy;iy 
 

78. Choose the pillars that support the Hall of Testimony (Saandranmai 
Mandabam) 
i. Love, Shy 
ii. Delay, Tiff 
iii. Dignity, Sky 
iv. Compromise, Truth, Overview 
a. ii, iv are right   b. i, iii, iv are right 
c. i, iv are right   d. iii, iv are right 
e. Answer not known 
rhd;whz;ik vd;Dk; kz;lgj;ijj; jhq;Fk; J}z;fs; vit? vd;gijj; njhpT 
nra;f 
i. md;G> ehzk; 
ii. Rzf;fk;> gpzf;fk; 
iii. khdk;> thdk; 
iv. xg;GuT> cz;ik> fz;Nzhl;lk; 
a. iii, iv kl;Lk; rhp   b. i, iii, iv kl;Lk; rhp 
c. i, iv kl;Lk; rhp   d. iii, iv kl;Lk; rhp 
e. tpil njhpatpy;iy 
 

79. Consider the following and find out the correct statement/statements 
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(a) Evidence of a planned town, warehouse and ring wells are found in 
Arikkamedu 

(b) The Cheras rules over Kauveri delta and their capital was Uraiyur 
(c) The Chola emblem was the tiger and they issued square copper coins with 

images of a tiger 
(d) The Sangam Age has its roots in the Bronze Age 
a. (a) is correct   b. (b) is correct 

 c. (a) and (c) is correct  d. (a), (c) and (d) are correct 
 e. Answer not known 

fPo;f;fhZk; $w;Wfis Muha;e;J rhpahd $w;W/$w;Wfis Njh;e;njLf;fTk; 
(a) jpl;lkpl;l efuk;> jhdpaf; fplq;F kw;Wk; ciw fpzWfs; mhpf;fNkl;by; 

fz;nlLf;fg;gl;ld 
(b) Nruh;fs; fhNthp nly;lh gFjpia Ml;rp nra;jdh;. mth;fspd; jiyefuk; 

ciwa+h; MFk; 
(c) Nrhoh;fspd; rpd;dk; Gyp MFk;. mth;fs; Gyp cUtk; nghwpj;j rJu 

tbtpyhd nrk;G ehzaq;fis ntspapl;lhh;fs; 
(d) rq;f fhyk; ntz;fyf; fhyj;jpy; ,Ue;J Nt&d;wj; njhlq;fpaJ 
a. (a) kl;Lk; rhp   b. (b) kl;Lk; rhp 
c. (a) kw;Wk; (c) rhp  d. (a), (c) kw;Wk; (d) rhp 
e. tpil njhpatpy;iy 
 

80. The effects of Independent Tamil Movement 
1. Tamil Language can maintain its traditional integrity without the loan 

words from English and Sanskrit 
2. Reclaiming chaste Tamil‟s glory that was a pride of the Sangam Period 
3. Actively opposing the Hindi language 
4. Avoid Hindi and accept only the English words 
a. 1 and 2 correct   b. 1 and 3 correct 
c. 2 and 4 correct   d. 2 and 3 correct 
e. Answer not known 
jdpj;jkpo; ,af;fj;jpd; tpisTfs; 
1. rk];fpUjk; kw;Wk; Mq;fpy nkhopfspd; cjtpapd;wpNa jkpo;nkhop 

,aq;fty;ynjd epWTjy; 
2. rq;fj;jkpoh; fhj;J tsh;j;j J}a jkpioj; fl;bf;fhj;jy; 
3. ,e;jp nkhop Mjpf;fj;ij kl;Lk; vjph;j;Jr; nray;gLjy; 
4. ,e;jp nkhopia mfw;wp Mq;fpyj;ij kl;Lk; Vw;Wf;nfhs;Sjy; 
a. 1 kw;Wk; 2 rhp   b. 1 kw;Wk; 3 rhp 
c. 2 kw;Wk; 4 rhp   d. 2 kw;Wk; 3 rhp 
e. tpil njhpatpy;iy 
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81. Which of the following statement is/are correct? 

1. Meetings of the Justice Party held in English only 
2. Meetings of the Indian National Congress held in Tamil also in order to 

attract common people 
3. Dr. Muthulakshmi Reddy was elected as Deputy Speaker of Legislature in 

1927 
a. 1 only correct   b. 2 only correct 
c. 1 and 2 are correct  d. 1, 2 and 3 are correct 
e. Answer not known 
gpd;tUk; nrhw;nwhlh;fspy; vJ/vit rhpahdit? 
1. ePjpf;fl;rpapd; $l;lq;fs; Mq;fpyj;jpy; kl;LNk eilngw;wd 
2. ,e;jpaNjrpa fhq;fpurpd; $l;lq;fs;> nghJkf;fisf; ftUtjw;fhf jkpopYk; 

ele;jd. 
3. 1927Mk; Mz;L lhf;lh; Kj;Jnyl;rkp nul;b rl;lkd;wj;jpd; Jiz 

rghehafuhfj; Njh;e;njLf;fg;gl;lhh; 
a. 1 kl;Lk; rhp   b. 2 kl;Lk; rhp 
c. 1 kw;Wk; 2 rhpahdit d. 1> 2 kw;Wk; 3 rhpahdit 
e. tpil njhpatpy;iy 
 

82. Who among the following was the collector of Tanjore when Satyagrahis 
marched towards Tanjore, against salt law? 
a. K. Santanam   b. A.J. Rajan 
c. G. Ramachandran  d. Selvi Durgabai 
e. Answer not known 
rj;jpahfpufpfs; cg;Gr; rl;lj;jpw;F vjpuhf jQ;ir Nehf;fp nrd;wNghJ 
gpd;tUgthpy; ahh; jQ;ir khtl;l Ml;rpauhf ,Ue;jhh;? 
a. f. re;jhdk;   b. V.N[. uh[d; 
c. [p. uhkre;jpud;   d. nry;tp Jh;fhgha; 
e. tpil njhpatpy;iy 
(None of the options is correct) 
 

83. When Madras Mahajana Sabha was started? 
a. May 17, 1884   b. May 26, 1884 
c. May 16, 1884   d. May 6, 1884 
e. Answer not known 
nrd;id kfh[d rig vg;nghJ njhlq;fg;gl;lJ/ 
a. Nk 17> 1884   b. Nk 26> 1884 
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c. Nk 16> 1884   d. Nk 6> 1884 
e. tpil njhpatpy;iy 
 

84. Arrange the following Tamil Scholars in chronological order 
1. Mayooram Vedanayagam Pillai 
2. Vedanayagam Sastriar 
3. Thanjavur Abraham Pandithat 
4. H.A. Krishnapillai 
a. 1, 2, 4, 3   b. 2, 1, 3, 4    c. 2, 1, 4, 3 

d. 3, 4, 2, 1   e. Answer not known 
gpd;tUk; jkpowpQh;fis fhyKiwg;gb thpirg;gLj;Jf 
1. kha+uk; Ntjehafk; gps;is 
2. Ntjehaf rh];jphpahh; 
3. jQ;ir Mgpufhk; gz;bjh; 
4. vr;.V. fpU~;zg;gps;is 
a. 1> 2> 4> 3  b. 2> 1> 3> 4   c. 2> 1> 4> 3 
d. 3> 4> 2> 1  e. tpil njhpatpy;iy 
 

85. Which of the following statements is/are true regarding the Treaty of Bassein 
(1802)? 
i. The Treaty of Bassein was signed between Peshwa Baji Rao II and the 

British 
ii. Peshwa agreed to cede in perpetuity to the company territories yielding 

an income of 26 lakhs rupees 
iii. Peshwa agreed to surrender the city of surat to companies 
a. i only   b. i and iii only  c. i and ii only 
d. i, ii and iii  e. Answer not known 
Ngrpd; cld;gbf;if 1802 njhlh;ghd gpd;tUk; $w;Wfspy; vJ / vit 
rhpahdJ / rhpahdit? 
i. Ngrpd; cld;gbf;if Ng~;th ,uz;lhk; gh[puht; kw;Wk; Mq;fpNyaUf;F 

,ilapy; ifnaOj;jhdJ 
ii. Ng~;th 26 yl;rk; &gha; tUkhdk; jUk; gpuNjrq;fisf; fk;ngdpf;F 

epue;jukhf tpl;Lf;nfhLf;f xg;Gf;nfhz;lhh; 
iii. Ng~;th #uj; efiuf; fk;ngdpaplk; xg;gilf;f xg;Gf;nfhz;lhh; 
a. i kl;Lk;    b. i kw;Wk; iii kl;Lk; 
c. i kw;Wk; ii kl;Lk;  d. i, ii kw;Wk; iii 
e. tpil njhpatpy;iy 
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86. V.N. Gadgil committee on Policy and programmes was constituted in the year 
a. 1978  b. 1980    c. 1982  
d. 1988  e. Answer not known 
nfhs;if kw;Wk; jpl;lk; njhlh;ghf V.N. fhl;fpy; FO cUthf;fg;gl;l Mz;L 
a. 1978  b. 1980    c. 1982  
d. 1988  e. tpil njhpatpy;iy 
 

87. Choose the correct matches among the types 
Organization     Articles 
1. Parliament     - 124 to 147 
2. The Union Judiciary    - 79 to 122 
3. Directive Principles of State Policy - 36 to 51 
4. Public Service Commission  - 315 to 323 
a. 1 and 3 are correct  b. 1 and 2 are correct 
c. 2 and 3 are correct  d. 3 and 4 are correct 
e. Answer not known 
fPo;f;fz;ltw;wpy; rhpahd nghUj;jj;ijf; fz;lwp 
mikg;Gfs;       tpjpfs; 
1. ghuhSkd;wk;      124 Kjy; 147 
2. xd;wpa ePjpj;Jiw     79 Kjy; 122 
3. muRf;F topfhl;Lk; newpKiwf; Nfhl;ghL 36 Kjy; 51 
4. muR gzpahsh; Njh;thizak;   315 Kjy; 323 
a. 1 kw;Wk; 3 rhp   b. 1 kw;Wk; 2 rhp 
c. 2 kw;Wk; 3 rhp   d. 3 kw;Wk; 4 rhp 
e. tpil njhpatpy;iy 
 

88. People in Tamil Nadu Greets Chief Minister as “Thayumanavar” (Man who 
becomes Mother) for the introduction of the scheme 
a. Breakfast in schools  b. Vidiyal Payana Thittam 
c. Neengal Nalama  d. Makaludan Mudalvar 
d. Answer not known 
jkpo;ehl;by;> ,j;jpl;lj;ij mwpKfg;gLj;jpajw;fhf> Kjyikr;riu> kf;fs; 
“jhAkhdth;” vd;W miof;fpd;wdh; 
a. gs;spapy; fhiy czT b. tpbay; gazj; jpl;lk; 
c. ePq;fy; eykh   d. kf;fSld; Kjy;th; 
d. tpil njhpatpy;iy 
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89. Which of the following statements are true about Athikadavu Avinashi 
Project? 
i. Coimbatore, Tirupur and Erode districts are the beneficiaries of this 

project 
ii. This project proses to take 1.5 TMC or surplus water from the 

Kalingarayan anicut in Erode District 
iii. This project was implemented at a cost of 2456.41 crores and irrigate 

28,464 acres of farmlands in these districts 
a. i only   b. i and iii only 
c. i and ii only  d. ii and iii only 
e. answer not known 
mj;jpf;flT-mtpdhrp jpl;lk; njhlh;ghd fPo;f;fz;l $w;Wf;Fss; vit 
rhpahdit? 
i. NfhaKj;J}h;> jpUg;g+h; kw;Wk; <NuhL khtl;lq;fs; ,j;jpl;lj;jhy; 

gydilfpd;wd. 
ii. <NuhL khtl;lj;jpy; cs;s fhspq;fuhad; mizapypUe;J 1.5 b.vk;.rp 

cghp ePiu ,j;jpl;lj;jpw;fhf vLf;f cj;Njrpf;fg;gl;lJ 
iii. ,j;jpl;lk; 2456.41 Nfhb kjpg;gPl;by; nray;gLj;jg;gl;L> Nkw;Fwpg;gpl;l 

khtl;lq;fspd; 28>464 Vf;fh; epyq;fSf;Fg; ghrd ePh; toq;FfpwJ 
a. i kl;Lk;    b. i kw;Wk; iii kl;Lk; 
c. i kw;Wk; ii kl;Lk;  d. ii kw;Wk; iii kl;Lk; 
e. tpil njhpatpy;iy 
 

90. “Neengal Nalama” is the scheme inaugurated by the Government of Tamil 
Nadu. 
a. Intended to reduce the gap between the people and government 
b. It is made up of an instrument of e-governance 
c. It focuses on ensuring that government initiatives reach the intended 

beneficiaries 
d. All of these 
e. Answer not known 
jkpo;ehL murhy; Jtq;fg;gl;Ls;s „ePq;fy; eykh‟ vd;Dk; jpl;lkhdJ 
a. kf;fSf;Fk; - murhq;fj;jpw;Fk; ,ilNaahd ,ilntspia 

Fiwg;gjw;FkhdjhFk; 
b. ,j;jpl;lkhdJ kpd; MSif vDk; fUtpahy; cUthf;fg;gl;ljhFk; 
c. ,j;jpl;lkhdJ muR nghJey jpl;lq;fs; Fwpg;gpl;lth;fSf;F nrd;W 

Nrh;fpwjh vd;W cWjpg;gLj;Jfpd;wJ 
d. ,it midj;Jk; 
e. tpil njhpatpy;iy 
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91. Consider the following statements about ELCOT and choose the correct 

answer 
i. ELCOT is registered under the Cooperative society Registration Act 
ii. It is partially owned by the government of Tamilnadu 
iii. It is the Nodal Agency for IT and infrastructure development for the 

Government of Tamilnadu 
iv. It was established in the year 1977 
a. iii and iv only correct  b. ii and iii only correct 
c. i and iv only correct   d. i and ii only correct 
e. answer not known 
jkpo;ehL kpd;dZ fof epWtdj;jpd; (ELCOT) fPo;f;fz;l $w;Wfspd; 
mbg;gilapy; rhpahd tpilia Njh;e;njLf;f 
i. vy;fhl; epWtdkhdJ $l;LwT rq;f rl;lj;jpd; fPo; cUthf;fg;gl;ljhFk; 
ii. ,jd; gFjpasT jkpof muRf;F nrhe;jKilajhFk; 
iii. jkpof murhq;fj;jpd; jfty; njhopw;El;gk; kw;Wk; mJ rhh;e;j 

cs;fl;lik tsh;r;rpf;fhd rpwg;G epWtdk; MFk; 
iv. ,e;epWtdk; 1977Mk; Mz;L cUthf;fg;gl;ljhfk; 
a. iii kw;Wk; iv kl;Lk; rhpahdJ 
b. ii kw;Wk; iii kl;Lk; rhpahdJ 
c. i kw;Wk; iv kl;Lk; rhpahdJ 
d. i kw;Wk; ii kl;Lk; rhpahdJ 
e. tpil njhpatpy;iy 
 

92. iTNT Hub is located at 
a. Anna University   b. Madras University 
c. Vellore Institute of Technology d. Madurai University 
e. Answer not known 
iTNT `g; ______ mike;Js;sJ 
a. mz;zh gy;fiyf;fofk;   
b. nrd;id gy;fiyf;fofk; 
c. NtY}h; njhopy;El;g epWtdk;  
d. kJiu gy;fiyf;fofk; 
e. tpil njhpatpy;iy 
 

93. Match correctly the evolution of district administration with their 
corresponding year 
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A. Royal commission on decentralization  1. 1772 
B. The Indian statutory commission   2. 1885 
C. The Bengal local self-government act   3. 1909 
D. The office of the collector     4. 1927 
 A B C D 
a. 2 4 1 3 
b. 4 2 1 3 
c. 1 4 3 2 
d. 3 4 2 1 
e. Answer not known 
khtl;l eph;thfj;jpd; ghpzhk tsh;r;rpia mtw;Wld; njhlh;gila Mz;NlhL 
rhpahf nghUj;Jf 
A. mjpfhu gutyhf;fk; kPjhd uhay; Mizak; 1. 1772 
B. ,e;jpa rl;lKiw Mizak;    2. 1885 
C. tq;fhs cs;@h; Ra Ml;rp rl;lk;   3. 1909 
D. khtl;l Ml;rpj;jiyth; mYtyfk;   4. 1927 
 A B C D 
a. 2 4 1 3 
b. 4 2 1 3 
c. 1 4 3 2 
d. 3 4 2 1 
 

94. Identify the correct statement about the State Disaster Management Authority 
of Tamilnadu 
i. It is responsible for coordinating the response to disasters and reducing 

risks 
ii. The chief secretary act as the chairperson for monitoring the disaster 

management activities in the state 
iii. When approving the state disaster management plan, the state cabinet 

follows the guidelines provided by the national Disaster Management 
Authority 

a. i only    b. i and iii only 

c. i and ii only   d. ii and iii only 
e. Answer not known 
jkpo;ehL khepy Nghplh; Nkyhz;ik Mizak; gw;wpa rhpahd $w;Wfisf; 
fz;lwpf 
i. NguopTf;fhd vjph;tpidfis xUq;fpizj;J> mghaq;fisf; 

Fiwg;gjw;F ,J nghWg;G 
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ii. jkpofj;jpy; Nghplh; Nkyhz;ik nray;ghLfisf; fz;fhzpf;Fk; 
jiytuhfj; jiyikr; nrayhsh; nray;gLfpwhh; 

iii. khepyg; Nghplh; Nkyhz;ik jpl;lj;jpw;F xg;Gjy; mspf;Fk; NghJ> Njrpa 
Nghplh; Nkyhz;ik Mizak; toq;fpa topfhl;Ljy;fis khepy 
mikr;ruit gpd;gw;WfpwJ 

a. i kl;Lk;    b. i kw;Wk; iii kl;Lk; 
c. i kw;Wk; ii kl;Lk;  d. ii kw;wk; iii kl;Lk; 
e. tpil njhpatpy;iy 
 

95. Which one does not include in three-tier system of local Government? 
a. Panchayat Samiti   b. Grama Sabha 

c. Gram Panchayat   d. Zila Parishad 
e. Answer not known 
%d;wLf;F cs;shl;rp mikg;G Kiwapy; Nrh;f;fg;glhj mikg;G vJ? 
a. gQ;rhaj;J rkpjp   b. fpuhk rig 
c. fpuhkg; gQ;rhaj;J   d. [py;yh ghp~j; 
e. tpil njhpatpy;iy 
 

96. Which of the following is correctly paired? 
1. C. Rajagopalachari  - Legislative Assembly 
2. B.P. Mandal    - Legislative Council 
3. Morarji Desai   - Legislative Council 
4. C.N. Annadurai  - Legislative Council 
a. 1 and 3 are correct  b. 1 and 2 are correct 
c. 2 and 3 are correct  d. 1 and 4 are correct 

e. Answer not known 
gpd;tUtdtw;wpy; vJ rhpahf ,izf;fg;gl;Ls;sJ? 
1. r. uh[Nfhghyhr;rhhp  - rl;lkd;w fPoit 
2. gh.gp. kz;ly;   - rl;lkd;w Nkyit 
3. nkhuhh;[p Njrha;  - rl;lkd;w Nkyit 
4. rp.vd;. mz;zhJiu  - rl;lkd;w Nkyit 
a. 1 kw;Wk; 3 rhpahdit  b. 1 kw;Wk; 2 rhpahdit 
c. 2 kw;Wk; 3 rhpahdit  d. 1 kw;Wk; 4 rhpahdit 
e. tpil njhpatpy;iy 
 

97. Match the following 
Union Minister category Function 
A. Cabinet Minister  1. Does not work under a Cabinet  

Minister 
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B. Minister of State with  2. Pretend and Participates in every independent 
charge  meeting of the cabinet 

C. Minster of State  3. Works under a Cabinet Minister 
D. Deputy Minister  4. Does not have independent Charge of  

any department 
A B C D 

a. 2 1 4 3 
b. 3 4 1 2 
c. 4 3 2 1 
d. 1 2 3 4 
e. Answer not known 
nghUj;Jf 
kj;jpa mikr;rh; tif  gzp 
A. mikr;rh; FO   1. ,th; ,uh[hq;f mikr;rhpd; fPo;g;gzp  

Ghpakhl;lhh; 
B. jdp ,yhf;fhTila  2. midj;J mikr;ruit $l;lj;jpYk;  
  kj;jpa mikr;rh;  fye;J nfhz;L gq;F ngw Ntz;Lk; 
C. kj;jpa mikr;rh;  3. ,th; ,uh[hq;f mikr;rh;> fPo;g;gzp  
     Ghpa Ntz;Lk; 
D. ,iz mikr;rh;  4. ,tUf;Fj; jdp ,yhfhTila  

Jiwfs; xJf;fg;glkhl;lhJ 
A B C D 

a. 2 1 4 3 
b. 3 4 1 2 
c. 4 3 2 1 
d. 1 2 3 4 

 
98. Choose the incorrect one from the given below 

1. Fundamental freedoms guaranteed by Article 19 are automatically 
suspended during emergency 

2. The President has the power to suspend few rights under Article 359 
3. Some of the fundamental rights are available only to citizen of India 
4. The Parliament has power to grant fundamental rights to persons serving 

in the armed forces 
a. 1 only  b. 2 only   c. 3 only 
d. 4 only  e. Answer not known 
fPo;f;fz;ltw;Ws; jtwhd xd;iwj; Njh;T nra;f 
1. murikg;G tpjp 19 %yk; cj;jputhjk; mspf;fg;gl mbg;gil chpikfs; 

midj;Jk; neUf;fb epiyfhyj;jpy; jhdhfNt ,ilepWj;jg;gLk; 
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2. murikg;G tpjp 359-fPo; rpy chpikfis ,ilepWj;j FbauRj;jiytUf;F 
mjpfhuk; cs;sJ 

3. rpy chpikfs; ,e;jpa FbkfDf;F kl;LNk fpilf;Fk; 
4. ,uhZtj;jpy; gzpahw;Wk; egh;fSf;F mbg;gil chpikfis toq;f 

ehlhSkd;wj;jpw;F mjpfhuk; cs;sJ 
a. 1 kl;Lk;  b. 2 kl;Lk;    c. 3 kl;Lk; 
d. 4 kl;Lk;  e. tpil njhpatpy;iy 
 

99. Assertion (A): An autonomous sub-state called Meghalaya was established 
within the state of Assam by the Assam Reorganisation (Meghalaya) Act 1969 
Reason (R): The State executive and legislature can alter or redistribute the 
territories of the units of the federation if they so desire. 
a. A is true but R is false 
b. Both A and R are true, and R is the correct explanation of A 
c. A is false R is true 
d. Both A and R are true, and R is not the correct explanation of A 
e. Answer not known 
$w;W (A): mrhk; kWrPuikg;G (Nkfhyah) rl;lk; 1969 %yk; mrhk; 
khepyj;jpw;Fs; Nkfhyah vd;w jd;dhl;rp Jiz khepyk; epWtg;gl;lJ 
fhuzk; (R): khepy Ml;rpj;Jiw kw;Wk; rl;lkd;wk; tpUk;gpdhy; $l;likg;gpd; 
myFfspd; epyg;gFjpia khw;wyhk; my;yJ kWgfph;T nra;ayhk;. 
a. A rhp Mdhy; R jtW 
b. A kw;Wk; R ,uz;Lk; rhp kw;Wk; R Af;fhd rhpahd tpsf;fkhFk; 
c. A jtW R rhp 
d. A kw;Wk; R ,uz;Lk; rhp Mdhy; R A f;fhd rhpahd tpsf;fky;y 
e. tpil njhpatpy;iy 

 
100. Which of the following statements are correct with respect to “Objective 

resolution” of the Indian Constitution? 
1. The author of this resolution was Dr. B.R. Ambedkar 
2. It was adopted by the constituent assembly on January 22, 1947 
3. The goal of this resolution was to declare India as a sovereign, socialist, 

democratic republic 
4. This resolution was later framed as the preamble of the Indian Constitution 
a. 1 and 3   b. 2 and 4    c. 1 and 4 
d. 1 and 2   e. Answer not known 
,e;jpa murpayikg;gpd; “Fwpf;Nfhs; jPh;khdk;” njhlh;ghfg; gpd;tUk; 
$w;Wfspy; vJ rhpahdJ? 
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1. ,e;jj; jPh;khdj;ij vOjpath; Dr. B.R. mk;Ngj;fh; 
2. ,J [dthp 22> 1947 md;w murpay; eph;za rigahy; Vw;Wf;nfhs;sg;gl;lJ 
3. ,e;jpahit ,iwahz;ikAs;s> Nrhrypr> [dehaff; Fbaurhf mwptpg;gNj 

,j;jPh;khdj;jpd; Fwpf;NfhshFk; 
4. ,j;jPh;khdk; gpd;dh; ,e;jpa murpayikg;gpd; KfTiuahf 

tbtikf;fg;gl;lJ. 
a. 1 kw;Wk; 3  b. 2 kw;Wk; 4   c. 1 kw;Wk; 4 
d. 1 kw;Wk; 2  e. tpil njhpatpy;iy  
  

101. Choose the best alternative as the answer  
A factory always has 
a. Electricity  b. Chimney   c. Workers 

d. Files   e. Answer not known 
kpfr;rhpahd khw;W tpiliaj; Njh;T nra;f 
xU njhopw;rhiyapy; vg;nghOJk; ,Ug;gJ 
a. kpd;rhuk;   b. GifNghf;fp  c. njhopyhsh;fs; 
d. Nfhg;Gfs;  e. tpil njhpatpy;iy 
 

102. The total number of digits used in numbering the pages of a book having 366 
pages is 
a. 732    b. 990     c. 1098 
d. 1305   e. Answer not known 
366 gf;fq;fs; nfhz;l xU Gj;jfj;jpd; gf;fq;fis vz;Ztjpy; 
gad;gLj;jg;gLk; nkhj;j ,yf;fq;fspd; vz;zpf;if vt;tsT? 
a. 732    b. 990     c. 1098 
d. 1305   e. tpil njhpatpy;iy 
 

103. =β F 2 * K S 7 5 # $ P L V S @ M U E 6 ↑ Q G 9 3 & T Y 
Which of the following is exactly in the middle of ninth from left end and 
fifteenth from right end in the above arrangement? 
a. #  b. $  c. P  d. L  e. Answer not known 
,lg;Gwj;jpypUe;J xd;gjhtJ tyg;Gwj;jpypUe;J gjpide;jhtJ> ,it 
,uz;bw;Fk; kj;jpapy; cs;sJ vJ? 
 = β F 2 * K S 7 5 # $ P L V S @ M U E 6 ↑ Q G 9 3 & T Y 
a. #  b. $  c. P  d. L  e. tpil njhpatpy;iy 
 

104. A dog runs 50 feet towards South and turns to left runs 20 feet and turns to 
left runs 7 feet and again turns to left runs 6 feet and then turns to right runs 
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15 feet and finally turns to right and runs 5 feet. Now which direction is the 
dog facing? 
a. East   b. North    c. South 
d. West   e. Answer not known 
xU ehahdJ njw;F jpir Nehf;fp 50 mb J}uk; Xba gpwF ,lJ Gwk; 
jpUk;gp 20 mb J}uk; XLfpwJ kPz;Lk; ,lJ Gwk; jpUk;gp 7 mb J}uk; Xba 
gpwf> ,lJ Gwk; jpUk;gp 6 mb J}uk; XLfpwJ. kPz;Lk; tyJ Gwk; jpUk;gp 15 
mb J}uk; Xba gpwF ,Wjpahf tyJ Gwk; jpUk;gp 5 mb J}uk; XLfpwJ. 
jw;NghJ me;j eha; ve;j jpir Nehf;fp ,Uf;Fk;? 
a. fpof;F   b. tlf;F    c. njw;F 
d. Nkw;F   e. tpil njhpatpy;iy 
 

105. If A is 50 m north east of B, B is 50 m north west of C, then C is in which 
direction of A? 
a. North   b. North west   c. South 

d. South west  e. Answer not known 
A MdJ B f;F tlfpof;F jpirapy; 50 kP J}uj;jpYk; B MdJ C f;F 
tlNkw;F jpirapy; 50 kP J}uj;jpYk; ,Ug;gpd;> A f;F ve;j jpirapy; C 
,Uf;Fk;? 
a. tlf;F   b. tlNkw;F   c. njw;F 
d. njd;Nkw;F  e. tpil njhpatpy;iy 
 

106. Seven executives P, Q, R, S, T, U and W reach office in a particular sequence. 
U reaches immediately before P but does not immediately follow S. R is the 
last one to reach office. T follows immediately after P and is subsequently 
followed by W. Who ranks fourth in the sequence of reaching office? 
a. W  b. U  c. T  d. P  e. Answer not known 
VO eph;thfpfs; P, Q, R, S, T, U kw;Wk; W Fwpg;gpl;l thpirapy; mYtyfj;ij 
milfpd;wdh;. U, P f;F Kd; cldbahf nrd;wilfpwhh;. Mdhy; S-ia 
cldbahfg; gpd;njhlutpy;iy. R jhd; filrpahf mYtyfj;ij milfpwhh;. 
T vd;gth; P-f;FgpwF gpd; njhlh;fpwhh; kw;wk; W vd;gth; T-ia gpd; 
njhlh;fpd;whh;. vdNt> ehd;fhtjhf mYtyfj;ij mile;jth; ahh;? 
a. W  b. U  c. T  d. P  e. tpil njhpatpy;iy 
 

107. According to a code language, words in capital letters in column I are written 
in small letters in column II. The letters in column II are jumbled up. Decode 
the language and choose the correct code for the word given as questions. 
Column I   Column II 
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i. CROWDY  a. blooppv 
ii. SOUND   b. jkgotv 
iii. CRUX   c. ijktv 
iv. CRONY   d. ikmop 
v. NET   e. cjmv 
vi. ADDRESS  f. abi 
Find the code for NEET 
a. abbi   b. baai    c. biia 
d. ibbs   e. Answer not known 
FwpaPl;L nkhopapd;gb gpd;tUk; Nfs;tpfSf;Fg; gjpyspf;f gpd;tUk; jftiyg; 
gbf;fTk;> Column I ,y; cs;s nghpa vOj;jpy; cs;s nrhw;fs; Column II 
,y; rpwpa vOj;jpy; vOjg;gl;Ls;sJ. Column II ,y; cs;s vOj;Jfs; 
fiye;J ,izf;fg;gl;Ls;sJ. nkhopia bNfhl; nra;J> nfhLf;fg;gl;l 
Nfs;tpf;fhd rhpahd FwpaPl;ilj; Njh;e;njLf;fTk;. 
Column I   Column II 
i. CROWDY  a. blooppv 
ii. SOUND   b. jkgotv 
iii. CRUX   c. ijktv 
iv. CRONY   d. ikmop 
v. NET   e. cjmv 
vi. ADDRESS  f. abi 
NEETf;Fr; rhpahd FwpaPl;ilf; fz;lwpaTk; 
a. abbi   b. baai    c. biia 
d. ibbs   e. tpil njhpatpy;iy 
 

108. Choose the number group which is different from others 
a. 71, 7, 3, 17  b. 67, 71, 3, 5   c. 41, 5, 3, 47 
d. 37, 14, 19, 7  e. Answer not know 
fPo;f;fhZk; vz;fspy; NtWgl;l vz; Foit vOJf 
a. 71, 7, 3, 17  b. 67, 71, 3, 5   c. 41, 5, 3, 47 
d. 37, 14, 19, 7  e. tpil njhpatpy;iy 
 

109. Choose the set of numbers from the four alternative sets, that is similar to 
thwe given set : (81, 77, 69) 
a. (56, 52, 44)  b. (64, 61, 53)  c. (75, 71, 60) 
d. (92, 88, 79)  e. Answer not known 
fPNo nfhLf;fg;gl;Ls;s njhFg;Gfspy; (81, 77, 69) vd;Dk; njhFg;gpw;F 
,izahdijj; Njh;e;njLf;f 
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a. (56, 52, 44)  b. (64, 61, 53)  c. (75, 71, 60) 
d. (92, 88, 79)  e. tpil njhpatpy;iy 
 

110. In the following questions, select a figure from amongst the four alternatives, 
which when placed in the blank space fig(X) would complete the pattern. 
gpd;tUk; Nfs;tpapy; ehd;F khw;Wfspy; ,Ue;J cUtj;ijj; Njh;e;njLj;J 
tiuglk; (X) apy; cs;s ntw;wplj;ij epug;Gf 
 

 
 
a.    b.    c. 

            
 
d.   e. Answer not known 

    
 

111. From the options, choose the correct „water-image‟ of the figure (X) 
gpd;tUk; tpdhtpy;> ,lk;ngw;Ws;s glk; (X)-d; rhpahd ePh;gpk;gj;ijj; Njh;T 
nra;f 
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a.   b.    c.  

          
 
d.   e. Answer not known 

       
 

112. Choose from the options the correct mirror image of the given figure. 
nfhLf;fg;gl;l glj;jpd; rhpahd fz;zhb gpk;gk; fhz;f 
 

 
 
a.       b.    c.  

     
 
d.    e. Answer not known 

 
 

113. Statement: Smoking is one of those human weaknesses which tend to test the 
will power of the smoker to the edge. 
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Conclusion:  
I. It is very difficult for the smokers to give up smoking even if they want 

to do so 
II. Human being have other weaknesses as well 
a. If only conclusion I follows b. If only conclusion II follows 
c. If neither I nor II follows  d. If both I and II follows 
e. Answer not known 
$w;W: Gif gpbg;gJ kdpjdpd; gytPdk; MFk;> mJ xUtdpd; jd;dk;gpf;if 
Nrhjpf;Fk; 
KbT: 
I. Gif gpbg;gth;fSf;F mth;fs; tpUk;gpdhYk; mij tpLtJ kpfTk; 

fbdk; 
II. kdpjh;fSf;F NtW rpy gytPdq;fSk; cz;L 
a. KbT I rhp    b. KbT II rhp 
c. KbT I-k; my;y II-k; my;y d. KbT I, II rhp 
e. tpil njhpatpy;iy 
 

114. Which word of the options cannot be formed using the letters of the following 
word 
ENDEAVORS 
a. VOTE  b. ROSE   c. END 
d. DONE  e. Answer not known 
gpd;tUk; nrhw;fspy; ENDEAVORS vd;w nrhy;ypd; vOj;JfspypUe;J 
cUthf;f Kbahj nrhy; vJ? 
a. VOTE  b. ROSE   c. END 
d. DONE  e. tpil njhpatpy;iy 
 

115. These questions are based on the following information 
i. A x B means A is mother of B 
ii. A + B means A is son of B 
In B x J + P, how is B related to P? 
a. Mother   b. Uncle    c. Wife 
d. Daughter  e. Answer not known 
,e;j Nfs;tpfs; gpd;tUk; jfty;fis mbg;gilahff; nfhz;lit 
i. A x B vd;gJ A vd;gJ B apd; jha; 
ii. A + B vd;gJ A vd;gJ B apd; kfd; 
B x J + P y; B vd;gJ P cld; vt;thW njhlh;GilaJ? 
a. jha;   b. khkh    c. kidtp 
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d. kfs;   e. tpil njhpatpy;iy 
 

116. Find out the right option for conclusions to the statements given 
Statements:  All candles are lamps 
   All lamps are bulbs 
 
Conclusions: I. All candles are bulbs 
   II. All bulbs are candles 
a. Only I follows   b. Only II follows 
c. Both I and II follows  d. Neither I nor II follows 
d. Answer not known 
nfhLf;fg;gl;l mwpf;iffspd; KbTfSf;fhd rhpahd tpUg;gj;ij fz;lwp 
mwpf;iffs;: vy;yh nkOFth;j;jpfSk; tpsf;Ffs; MFk; 
   vy;yh tpsf;FfSk; kpd;tpsf;Ffs; MFk; 
KbTfs;:  I. vy;yh nkOFth;j;jpfSk; kpd;tpsf;Ffs; MFk; 
   II. vy;yh kpd;tpsf;FfSk; nkOFth;j;jpfs; MFk; 
a. I kl;Lk; njhluj;jf;fJ  b. II kl;Lk; njhluj;jf;fJ 
c. I kw;Wk; II njhluj;jf;fJ  d. I kw;Wk; II njhluj;jf;fjy;y 
e. tpil njhpatpy;iy 
 

117. Find the missing number 
tpLgl;l ,lj;ij epug;Gf 

 
a. 3  b. 9  c. 1  d. 2  e. Answer not known 
 

118. In how many ways a committee consisting  of 3 men and 5 women can be 
formed from 5 men and 6 women? 
5 Mz;fs; 6 ngz;fspypUe;J 3 Mz;fs;> 5 ngz;fs; nfhz;l xU FOit 
vj;jid topfspy; Njh;e;njLf;fyhk;? 
a. 15  b. 30  c. 60  d. 19  e. Answer not known 
 

119. A box contains 2 white balls, 3 black balls and 4 red balls. In how many ways 
can 3 balls be drawn from the box, if atleast one black ball is to be included in 
the draw? 
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xU ngl;bapy; 2 nts;is epw ge;JfSk; 3 fUg;G epw ge;JfSk; 4 rpfg;G epw 
ge;JfSk; cs;sd. Fiwe;jgl;rk; xU fUg;G ge;J nfhz;l 3 ge;Jfis 
vLf;f Ntz;Lnkdpy; vj;jid tiffspy; mtw;iw vLf;fyhk;? 
a. 32  b. 48  c. 64  d. 95  d. Answer not knwn 
 
 
 

120. In the given figure (i) (ii) are related to each other. Find the odd one 
fPNo nfhLf;fg;gl;Ls;s xd;Nwhnlhd;W rk;ge;jg;gl;l (i) (ii) glq;fspy; 
nghUj;jkw;w glj;ijf; fz;Lgpb 

 
a. 1  b. 2  c. 3  d. 4  e. Answer not known 
 

121. A piece of ice floats on water 
a. Often  b. sometimes   c. Never 
d. Always  e. Answer not known 
xU gdpf;fl;b jz;zPhpy; kpjf;fpwJ 
a. mbf;fb  b. rpy Neuq;fspy;  c. xUNghJk; fpilahJ 
d. vg;NghJk; e. tpil njhpatpy;iy 
 

122. In a class 
2

5
 of the students are girls and rest are boys. If 

1

5
 of the girls and 

1

4
 

of the boys are absent, which part of the total number of students is present? 

xU tFg;gpy; cs;sth;fspy; 
2

5
 gq;F khztpfs;> kPjp cs;sth;fs; khzth;fs;. 

mth;fspy; 
1

5
 gq;F khztpfSk; 

1

4
 gq;F khzth;fSk; gs;spf;F tutpy;iy 

vdpy; vt;tsT gq;F khzth;fs; (boys and girls) gs;spf;F te;Js;sdh;. 

a. 
17

25
  b. 

77

100
 c. 

62

100
  d. 

50

100
 e. Answer not known 

 
123. Choose the correct alternative 

rhpahd khw;iw Njh;T nra;f 
a b ___ ___ b a a ___ ___ a b ___ 
a. aaaaa  b. aabaa   c. aabab 
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d. baabb  e. Answer not known 
 

124. Study the diagram below and identify the region representing youth who are 
unemployed but not educated 
 

 
a. 2 only   b. 6, 7    c. 2, 5, 8 
d. 5, 8   e. Answer not known 
 
fPNo cs;s tiuglj;ijg; gbj;J ghh;j;J> ,jpy; Ntiyapy;yhj Mdhy; 
gbf;fhj ,isQh;fisf; Fwpf;Fk; gFjpiaf; fz;lwp 
 

 
 
a. 2 kl;Lk;   b. 6, 7     c. 2, 5, 8 
d. 5, 8   e. tpil njhpatpy;iy 
 

125. The following question is based on a dice numbered 1 to 6 in different ways as 
indicated 
If 2 is opposite to 3 and adjacent to 4 and 6 then which of the following 
statements is necessarily true? 
a. 1 is opposite to 5   b. 4 is opposite to 5 
c. 4 is adjacent to 2 and 6  d. 1 is adjacent to 2 and 3 
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e. Answer not known 
1 Kjy; 6 tiu vz;zplg;gl;Ls;s xU gfiliaf; fUj;jpy; nfhz;L 
tpilasp 
 
vz; 2> 3 f;F vjphpYk; 4 kw;Wk; 6 f;F mUfpYk; ,Ug;gpd; fPo;f;fz;l 
$w;WfSs; vJ rhp? 
 
a. 1> 5 f;F vjphpy; ,Uf;Fk;   
b. 4> 6 f;F vjphpy; ,Uf;Fk; 
c. 4> 2 f;Fk; 6 f;Fk; mUfpy; ,Uf;Fk; 
d. 1> 2 f;Fk; 3 f;Fk; mUfpy; ,Uf;Fk; 
e. tpil njhpatpy;iy 
 

126. If A is B‟s sister, C is B‟s mother, D is C‟s father and E is D‟s mother, then how 
is A related to D? 
a. Grand Daughter b. Daughter   c. Aunt 
d. Father   e. Answer not known 
A vd;gth; B apd; rNfhjhp> C vd;gth; B apd; jha;> D vd;gth; C apd; je;ij 
kw;Wk; E vd;gth; D ,d; jha;. gpwF A vd;gth; D cld; vt;thW 
njhlh;Gilath;? 
a. Ngj;jp   b. kfs;    c. mj;ij 
d. je;ij   e. tpil njhpatpy;iy 
 

127. Pointing towards a woman, Raj said „She is the daughter of my wife‟s sister”. 
How is the wife of Raj related to the woman? 
a. Aunt   b. Daughter  c. Sister 
d. Mother   e. Answer not known 
xU ngz;izf; fhl;b> uh[; “mth; vd; kidtpapd; rNfhjhpapd; kfs;” vdf; 
$wpdhh;. uh[; vd;gthpd; kidtp mg;ngz;Zf;F vd;d cwT? 
a. rpj;jp   b. kfs;   c. rNfhjhp 
d. jha;   e. tpil njhpatpy;iy 
 

128. In a certain code language, „481‟ means „Sky in blude‟ „246‟ means „Sea in 
deep‟ and „698‟ means „Sea looks blue‟. What number is the code for „looks‟? 
a. 4  b. 6  c. 8  d. 9  e. Answer not known 
xU Fwpg;gpl;l FwpaPl;L nkhopapy; „481‟ vd;why; „thdk; ePyk;‟ „246‟ vd;why; 
„fly; MokhdJ‟ kw;Wk; „698‟ vd;why; „fly; ePykhd Njhw;wk;‟ vd;W 
Fwpf;fg;gl;lhy; „Njhw;wj;jpw;fhd‟ mjd; FwpaPl;L nkhop vd;d? 
a. 4  b. 6  c. 8  d. 9  e. tpil njhpatpy;iy 
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129. Choose the odd one out 

NtWgl;l xd;iwj; Njh;f 
a. AEHL  b. BFJN    c. HLPT  
d. MQVZ  e. Answer not known 
 

130. The same relationship obtain in one of the 4 alternative given below 
Evaporation : Cloud : Rain 
a. Sneezing : Cough : Cold  b. Accident : Injury : Pain 
c. Tanning : Leather : Purse  d. Bud : Flower : Fragrance 
e. Answer not known 
Mtpahjy; : Nkfk; : kio 
,e;j ,izf;F nghUj;jkhd ,iziaj; Njh;f 
a. Jk;ky; : ,Uky; : rsp   
b. tpgj;J : fhak; : typ 
c. Njhy; gjdpLjy; : Njhy; : gzg;ig 
d. nkhl;L : kyh; : eWkzk; 
e. tpil njhpatpy;iy 
 

131. Choose the best alternative as the answer 
Which one of the following is always found in Bravery? 
a. Courage   b. Experiences  c. Power 
d. Knowledge  e. Answer not known 
kpfr;rhpahd khw;W tpiliaj; Njh;T nra;f 
tPuj;Jld; nray;gLgthplk; fPo;f;fhz;gtw;Ws; vJ fhzg;gLk;? 
a. ijhpak;   b. mDgtq;fs;  c. rf;jp 
d. mwpT   e. tpil njhpatpy;iy 
 

132. Which figure in the option is embedded in the pattern given in figure (X)? 
nfhLf;fg;gl;Ls;s (X) glj;jpy; ve;j cUtk; kiwe;Js;sJ? 
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 a   b   c   d 
 

133.  Study the following arrangement carefully and answer the questions given 
RD15E%K3J19P8#A2B$KM6W@N4©T*7FH  
How many such consonants are there in the above arrangement, each of 
which is immediately preceded by a symbol and immediately followed by a 
number? 
a. One   b. Two    c. Three 
d. Four   e. Answer not known 
fPNo nfhLf;fg;gl;l njhliuf; ftdkhf gbj;J tpdhtpw;F tpilaspf;f 
RD15E%K3J19P8#A2B$KM6W@N4©T*7FH  
Nkw;Fwpg;gpl;l njhlhpy; FwpaPLf;F Kd;dUk; mLj;jjhf vz;Zk; ,Uf;FkhW 
vj;jid nka;naOj;Jf;fs; cs;sd? 
a. xd;W   b. ,uz;L    c. %d;W 
d. ehd;F   e. tpil njhpatpy;iy 
 

134. Statement:  „We follow some of the best and effective teaching  
learning practices used by leading institutes all over the world‟ – 
A statements of a professor of M.N. Institute. 

Conclusion: 
I. The M.N. Institute is one of the leading institutes of the world 
II. Whatever is being followed by world‟s leading institutes will definitely 

be good and useful. 
a. If only conclusion I follows b. If only conclusion II follows 

c. If either I or II follows  d. If both I and II follows 
e. Answer not known 
$w;W:  ehq;fs; rpy Kiwahd, rhpahd ghlk; fw;gpf;fk;  

Mw;wy;fis> cyfpy; cs;s nghpa epWtdq;fspy; ,Ue;J gbj;Jf; 
fw;gpf;fpNwhk; - M.N. Institute Professor 

KbT:   
I. M.N. epWtdk; cyfpy; cs;s xU rpwe;j epWtdk; 
II. cyfpy; cs;s rpwe;j epWtdq;fs; filgpbf;Fk; ey;yit; 

ey;yitfshfTk;> gad; cs;sitahfTk; ,Uf;Fk;  
a. KbT I kl;Lk; rhp   b. KbT II kl;Lk; rhp 
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c. KbT I my;yJ II rhp  d. KbT I kw;Wk; II rhp 
e. tpil njhpatpy;iy 
 

135. This question is based on the following information 
A # B means A is divided by B 
A * B means A is multiplied by B 
Salary of Ram is (A) 80% of salary of Ravi is (B) 
Find out the right choice to present is 
a. A = (100 # 80) * B   b. A = 80 # 100 # B 
c. A = (80 # 100) * B   d. A = 80 * 100 * B 
e. Answer not known 
,e;j Nfs;tp gpd;tUk; jfty;fis mbg;gilahff; nfhz;lJ 
A # B vd;gJ A tFj;jy; B 
A * B vd;gJ A ngUf;fy; B 
a. A = (100 # 80) * B   b. A = 80 # 100 # B 
c. A = (80 # 100) * B   d. A = 80 * 100 * B 
e. tpil njhpatpy;iy 
 

136. Fill in the blanks with a suitable figure from the option given 
tpLgl;l ,lj;jpy; rhpahd glj;jpidapl;L epug;Gf 
 

 

        
       a           b         c        d 
 

137. Statement: Nuclear power cannot make a country secure. 
 
Courses of Action 
I. We should stop further increasing our nuclear power 
II. We should destroy out nuclear capability 
III. We should focus on improving diplomatic relations 
a. Only I follows   b. Only II follows 
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c. Only III follows  d. Both I and II follows 
e. Answer not known 
$w;W: mZ rf;jpahy; ehl;bd; ghJfhg;ig cUthf;f KbahJ  
 
eltbf;ifapd; Nghf;F 
I. ekJ mZrf;jpia NkYk; mjpfhpg;gij epWj;j Ntz;Lk; 
II. mZ rf;jpia mopf;f Ntz;Lk; 
III. J}juf cwTfis Nkk;gLj;Jtjpy; ftdk; nrYj;j Ntz;Lk; 
a. eltbf;if I kl;Lk; rhp  b. eltbf;if II kl;Lk; rhp 
c. eltbf;if III kl;Lk; rhp  d. eltbf;if I kw;Wk; II rhp 
e. tpil njhpatpy;iy 
 

138. Find the missing number 
tpLgl;l ,lj;ij epug;Gf 
 

 
a. 4  b. 9  c. 49  d. 16  e. Answer not known 
 

139. January 1, 2007 was Monday. What day of the week lies on January 1, 2008? 
a. Monday   b. Tuesday   c. Wednesday 
d. Sunday   e. Answer not known 
 [dthp 1> 2007 jpq;fl;fpoik vdpy; [dthp 1> 2008 vd;d fpoikahf 
,Uf;Fk;? 
a. jpq;fl;fpoik  b. nrt;tha;fpoik  c. Gjd;fpoik 
d. Qhapw;Wf;fpoik e. tpil njhpatpy;iy 
 

140. If 1st January of year 2020 is Thursday then what day of the week lies on 1st 
January 2021? 
a. Monday   b. Wednesday  c. Friday 
d. Saturday  e. Answer not known 
2020 [dthp 1 Mk; Njjp tpahof;fpoik vdpy; 2021 [dthp Kjy; ehs; vd;d 
fpoik? 
a. jpq;fs;   b. Gjd;   c. nts;sp 
d. rdp   e. tpil njhpatpy;iy 
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141. Find out the correct plural form of the word „crisis‟.  
a. Crisese   b. Crise   c. Crises 

d. Crisis   e. Answer not known 
 

142. Find out the correct plural form for the word „deer‟ 
a. dear  b. deers  c. dears   d. deer 

e. Answer not known 
 

143. Find out the odd word. 
a. quickly  b. break     c. split  
d. tear  e. Answer not known  

 
144. Which compound words is with the pattern Noun + Verb'? 

a. Airport  b. Butter Paper  c. Footprint  

d. Fishing net d. Answer not known 
 

145. Choose the right combination for the blended word “docudrama 
a. Documentary + drama  b. Document + drama 
c. Documentation + drama  d. Document paper + drama 
e. Answer not known 

 
146. Identify the blend of „friend+ enemy‟. 

a. frenmy   b. freemy  c. frenemy  d. friemy 
e. Answer not known 

 
147. COZYTIVITY 

Find the blended word. 
a. Coziness + Activity   b. Coziful + Activity 
c. Cozine + Activity   d. Cozy + Activity 

e. Answer not known 
 
Discipline is the most essential virtue you should acquire when you are 
young. It is a complex quality. It shapes your mind to religious, social and 
economic patterns when you grow up to be an active citizen. 
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At a young age, we do not realize the value of discipline. An athlete 
disciplines himself and keeps himself fit. He refrains from smoking, observes 
good food habits and keeps good health. Discipline increases the human 
energy and implies control, resistance and adjustment. Our energy is saved 
and made vital for a good output. 

 
148. How is discipline beneficial to human beings?  

a. To be wealthy   b. To be with good habits  

c. To be religious   d. To be economical 
e. Answer not known 

 
149. The word „essential‟ means 

a. important     b. compulsory 
c. necessary    d. meaningful 
e. Answer not known 

 
150. What does discipline increase in us? 

a. The human energy   b. Unlimited freedom 

c. Complex quality    d. Acquiring freedom 

e. Answer not known 
 

151. Select the correct affix and form correct words.  
The squares are ________ aligned with each other across different rows.  
a. un  b. dis  c. mis  d. in  e. Answer not known 
 

152. Select the correct suffix and form a correct word.  
The markets offer a (vary) _______ of fresh fruits and vegetables.  
a. um  b. tion  c. iety  d. sion  e. Answer not known 

 
153. Choose the correct Prefix from the given options.  

She narrated the incident in an (imitable) style.  
a.  un  b. in  c. dis   d.  mis  e. Answer not known 

 
154. Select the correct Tense from:  

Will you be doing laundry tonight? 
a.  Future perfect tense   b. Future tense   
c. Future continuous    d.  Future perfect continuous tense 
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e. Answer not known 
 

155. Select the correct Question Tag: 
Let him go there, __________? 
a. Shall we     b. Shan‟t him?    
c. Shall him?   d. Shall he?  

e. Answer not known 
 

156. Select the correct Question Tag:  
Let‟s take this matter to count __________? 
a. Can we?    b. Shall we?   c.  May we?   
d. Should we?   e. Answer not known 

 
157. Identify the sentence pattern of the following sentence. 

In the hall, during prayer song, the students are silent.  
a. S + V + O   b. A + S + V + C  c. A + A + S + V + C  

d. S + V + A    e. Answer not known 
 

158. Identify the sentence pattern of the following sentence from the options  given 
below:  
I placed the camera on the tripod.  
a. A S V C   b. A S V O  c. S V O A  d.  S V OC  
e. Answer not known 

 
159. Identify the sentence pattern of the following sentence.  

She made his intention clear.  
a.  S + V + O + C + A    b. S + V + C + A    
c. A + S + V + O    d. S + V + DO + C  

e. Answer not known 
 

160. Fill in the blanks with correct participle from options given.  
________ early, Pami had time to review her notes before the test. 
a.  Have arrived    b. Having arrived     
c. Arriving     d.  Arrived  
e. Answer not known 

 
161. Identify the sentence which has error in subject verb Agreement.  
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a. The team has been working hard 
b. Time and tide waits for no man.  
c. She don’t have a pen 
d. He doesn‟t come outside nowadays. 
e. Answer not known 

 
162. Fill in the blanks with correct homophone. 

The _______ for the ride was expensive. 
a. fair  b. fore  c. far  d.  fare e. Answer not known 

 
163. Select the correct homophone for the word „mail‟ 

a.  myle  b. maile  c. male  d.  mile 
e. Answer not known 

 
164. Choose the correct homophones that rhymes with the underlined word. 

The dog wagged its tail. 
a.  taile   b. tale  c. toile   d.  toil 
e. Answer not known 

 
165. Identify the sentence pattern of the following sentence. 

Fondly, she asked, 
a.  S + V + O  b. S + V + C  c. A + S + C   
d. A + S + V   e. Answer not known 

 
166. Choose the correct degree to complete the sentence. 

The Amazon is _______ river in the world. 
a. the most longest  b. the longer 
c. the longest   d. longest 
e. Answer not known 
 

167. Identify the sentence with the correct superlative form. 
a. He is the more fastest runner in the team  
b. This is the best cake I have ever tasted 
c. That movie was the less interesting of all 
d. She is the more talented musician in the band 
e. Answer not known 
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168. Identify the degree of the word “inferior”. 

a. Positive     b. Superlative    
c. Comparative   d.  All the above 
e. Answer not known 

 
169. Select the Complex Sentence. 

a. Although it was raining, we decided to go for a walk 
b. It rained but we decided to go for a walk. 
c. No sooner it rained than we went for a walk. 
d. It was raining and so we did not go for a walk. 
e. Answer not known 

 
170. Identify the sentence. 

We wish to reap so we sow. 
a. Simple sentence   b. Compound sentence  

c. Complex sentence   d. Interrogative sentence 

e. Answer not known 
 

171. Choose the correct „Antonym for the underlined word from the options  
given: 
Police were all over the place: doors were yanked open. 
a. Pulled  b. Fixed    c. Broke 
d.  Shook  e. Answer not known 

 
172. Choose the correct Antonym for the underlined word.  

Women tend to be vivacious always. 
a. Full of energy   b. Lethargic 

c. Dejected   d. Gorgeous   e. Answer not known 
 

173. Choose the correct „Synonym‟ for the underlined word from the options 
given: 
You may, being in a hurry, and seeing your car pulled up by his insolence of 
office. 
a. Prudence   b. Rudeness   c. Gentleness  
d.  Intelligence  e. Answer not known 

 



 

65 | Page  044-24339436, 42867555, 9840226187 

 
174. Select the correct Question Tag : 

Sheena won‟t mind if I use her book _________? 
a. won‟t she?     b. didn‟t she?  c. haven‟t she?   
d. will she?    e. Answer not known 

 
175. Fill in the blanks with a suitable preposition. 

He had been _________ a difficult experience. 
a. to    b. towards  c. through   d.  thorough  
e. Answer not known  

 
176. Fill in the blanks with a suitable preposition. 

When she came ________ me shouting, I retreated behind my desk. 
a.  through   b. to   c. towards  d. till  
e. Answer not known 

 
177. Fill in the blanks with a suitable infinitive. 

Can you hope _______the stars? 
a. to walk  b. to number  c. to count  d.  to counting 
e. Answer not known 

 
178. Select the correct Active Form of the sentence given :  

“The wounded man was being helped by some boys”. 
a. Some boys helped the wounded man. 
b. Some boys have helped the wounded man. 
c. Some boys were helping the wounded man.  
d. Some boys are helping the wounded man.  
e. Answer not known 

 
179. Select the correct passive voice for the given sentence.  

We know that some children go wise early. 
1. It is known that some children go wise early  
2. Some children are known to go wise earl 
3. It is being known that some children go wise earl 
4. Some children are being known to go wise early. 
a. 1 only  b. 2 only  c. 1 and 2  d. 3 and 4 
e. Answer not known 
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180. Select the correct sentence. 

a. He is junior than me. 
b. He is a MLA. 
c. She is the cleverest girl in the class.   
d.  This is a best poem of Tagore. 
e. Answer not known 

 
181. Choose the correct homophone from the list given below: 

She has gone to buy Stationery.  
a. Stationery    b. Stationory 
c. Stationary    d. Stationairy 
e. Answer not known 
 

182. Find out the error in the sentence and pick out the correct sentence.  
At that time, she was writing a book for three months. 
a.  At that time, she have writing a book for three months   
b. At that time, she had writing a book for three months 
c. At that time, she had been writing a book for three months  
d.  At that time, she has writing a book for three months 
e. Answer not known 

 
183. Find out the odd word. 

A. Jury 
B. Sparrow 
C. Committee 
D. troop 
a.  Sparrow  b. Jury   c. Committee 
d.  Troop   e. Answer not known 

 
184. Select the correct sentence. 

a. Every students like the teacher.  
b. He do not have a music system. 
c. He is taller than I. 
d. She love her father. 
e. Answer not known 
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185. Fill in the blanks in a sentence with appropriate compound words. 

Don‟t rely on the __________.   
a. Raining days   b. Sleeping pill   c. Drawing room 
d. Helping mind   e. Answer not known 

 
186. Fill in the blanks with a compound word. 

On rainy days, we enjoy playing ______ games. 
a. Water   b. Indoor  c. Card d.  Board 
e. Answer not known 

 
187. Fill in the blanks with appropriate compound word. 

Recently Sara bought a brand new _________.  
a. Sugar candy    b. Washing machine  c. Ice-cream 
d.  Foot ball   e. Answer not known 

 
188. Choose the correct Synonym for the underlined word.  

The bride was garrulous during the occasion.  
a. Anxious   b. Wise    c. Talkative  

d. Quiet   e. Answer not known 
 

189. Match the following words and phrases given in Column A with their 
meanings in Column B. 
Column A     Column B 
A. Find the pony    1. a difficult situation  
B. Sleep like a log   2. cause trouble  
C. Kettle of fish    3. find something good in a bad situation 
D. Upset the apple cart  4. deep sleep 

A B C D 
a.   4 3 2 1   
b.  3 4 1 2    
c.  2 3 4 1   
d.   1 2 3 4 
e. Answer not known 
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190. Match the following words and phrases given in Column A with Column  B.  

Column A    Column B  
A. look out   1. search 
B. look into   2. admire 
C. look upto   3. investigate  
D. look up   4. be careful 

A B C D 
a.   3 2 1 4   
b.  4 3 1 2    
c.  3 4 1 2    
d.  4 3 2 1  
e. Answer not known 
 

191. Choose the correct preposition. 
The Moon shines bright ________ the clouds 
a. Beside  b. Among  c. Behind  d. Between 
e. Answer not known 

 
192. Fill in the blanks with the suitable preposition. 

She poured the sauce _________ the pasta. 
a. through  b. about c. out  d. over e. Answer not known 

 
193. Fill in the blanks with suitable article from the options given below. 

The organization helps _____ elderly. 
a. an  b. the  c. a d. no article  e. Answer not known 

 
194. Fill in the blanks with a suitable Article from the options given below: 

France is _________ European country. 
a. an   b. a  c. the   d.  one  e. Answer not known 

 
195. From the given sentence replace the British English to American English. 

She's very mean with her money. Don t ask her for any help. 
a. Miser  b. Stingy  c. Wealthy  d. Generous   
e. Answer not known 
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196. Choose the correct British English word for the American English word  

FALL. 
a. Waterfall   b. Autumn   c. Snowfall 
d. Rainfall   e. Answer not known 
 

197. Identify the American English word for “Pavement”. 
a.  Platform   b. Stage c. Sidewalk  d.  Podium 
e. Answer not known 

 
198. Select the correct tense : 

She _________ an exam at 2 p.m tomorrow. 
a.  will take   b. will be taking  c. shall take    
d. shall be taking   e. Answer not known 

 
199. Select the correct question tag 

I have captured some beautiful moments in my camera? 

a.  aren‟t I?    b. didn‟t I?    c. haven’t I  

d. have I?      e. Answer not known 
 

200. Select the correct tense and fill in the blanks given in the sentence below : 

The plane ______________ by the time I got to the airport. 
a. is left     b. had left   c. was left     
d. were left    e. Answer not known 

 
 
 


